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Monday, December 2, 2019
--- Upon commencing at 10:02 a.m.

CHAIR SPOEL:  Good morning.  Please be seated.

The Ontario Energy Board is sitting this morning on two matters.  The first is Hydro One Networks Inc. and Orillia Power Distribution Corporation's application for approval for Hydro One Networks Inc. to acquire all issued and outstanding shares of Orillia Power Distribution Corporation, and other related relief.  And the Board has assigned file number EB-2018-0270 to that proceeding.

The second proceeding is an application by Hydro One Networks Inc., Peterborough Distribution Inc, Peterborough Utilities Services, and 1937680 Ontario Inc., and it is an application for approval to amalgamate Peterborough Distribution Inc. and Peterborough Utilities Services Inc. and to sell the amalgamated electricity distribution system to Hydro One Networks Inc., and that file is EB-2018-0242.

My name is Cathy Spoel.  I will be the presiding member in this proceeding.  Sitting with me today are my -- are Board members Lynne Anderson and Michael Janigan.

Before we begin, I just want to say that one of the Hydro One witnesses is stuck somewhere on public transit or something.  So we're going to get started with other preliminary things first and presentations, oral comments from a couple of parties, and then we will proceed on to the witnesses when they get here.

So if I could start with appearances for those legal counsel.
Appearances:

MR. KEIZER:  Charles Keizer on behalf of Hydro One.  Also put in an appearance for my co-counsel, Mr. Richard King.  Also for Hydro, One Mr. King and I will be sharing duties, so you may see Mr. King after lunch.

CHAIR SPOEL:  Thank you.

MR. RODGER:  Good morning, Madam Chair.  Mark Rodger, counsel to Orillia Power Distribution Corporation and Peterborough Distribution Inc., and with me is my colleague, Jonathan Liteplo, and Mr. Liteplo will take over after today, as I have an out-of-province commitment that I couldn't reschedule.  Thank you.

CHAIR SPOEL:  Thank you.

MR. SHEPHERD:  Good morning, Madam Chair.  Good morning, Madam Chair.  My name is Jay Shepherd.  I am counsel for the School Energy Coalition.

CHAIR SPOEL:  Thank you, Mr. Shepherd.

MR. HANCHET:  I'm Guy Hanchet, and I am here to make an oral presentation regarding the matter of the purchase of PDI by Hydro One.

CHAIR SPOEL:  Thank you, Mr. Hanchet.

MS. GIRVAN:  Julie Girvan on behalf of the Consumers Council of Canada.  I would also like to make an -- register an appearance for Mr. Bill Harper, who will be appearing on behalf of the Vulnerable Energy Consumers Coalition.  Thank you.

CHAIR SPOEL:  Ms. Girvan.

MR. RICHARD STEPHENSON:  Good morning, Richard Stephenson.  I am counsel for the Power Workers' Union.

MR. KEHOE:  Frank Kehoe, and I represent what I would consider the majority of Orillia Consumers that are thoroughly opposed to the sale of their distribution arm.  And I mentioned -- when I say "their distribution arm", the full recognition that the citizens only are owned through an agreement with the City of Orillia.  Now, the --


CHAIR SPOEL:  Right.  Mr. Kehoe, you will have an opportunity to make -- right now we are just taking people's names --


MR. KEHOE:  Yes.

CHAIR SPOEL:  -- and you will have an opportunity to speak in a few minutes.

MR. KEHOE:  Okay.  Yes, thank you.

CHAIR SPOEL:  Thank you.

MR. MILLAR:  Good morning, Madam Chair.  Mike Millar, counsel for Board Staff.  Sorry to give you whiplash there.  I'm not in my accustomed seat.  I am joined today to my left by Andrew Bishop, and my right, Andrew Pietrewicz, and to his right, Nancy Marconi.

CHAIR SPOEL:  Is there anyone else?  Thank you.

So what I propose to do is to have Mr. Hanchet and Mr. Kehoe make their presentations -- oral comment -- presentations first, and then when the Hydro One witnesses are all here, we will have them affirmed and proceed on with Hydro One's evidence.

Are there any other preliminary matters before we begin?
Preliminary Matters:


MR. KEIZER:  Madam Chair, if I may.  There is just a couple of preliminary matters.  Nothing major.  One was just to note for parties that we did -- Hydro One did file some evidence corrections on Friday, which were filed electronically on RESS, and there are hard copies available here in the room.

The second is, it is our understanding that no party has questions for Navigant, who is the expert that was -- report that was provided in the Hydro One applications, so as a result they will not be appearing, unless you indicate otherwise.

And then lastly, is a bit of a request, and that is the last procedural order that was issued set out the argument schedule, and so currently parties are to deliver their -- we deliver our argument-in-chief, I think, on the 13th, the parties deliver their reply arguments on the 20th.  Both Mr. King and I are away from the 20th until the 6th of January, and we were to file our reply on the 10th of January, and we are asking if we could extend that date for Hydro One 'til January 17th.

CHAIR SPOEL:  I don't think that is a problem.  It is your application.  So, yeah, we will accommodate that.  I mean, it is always an issue with over Christmas and New Year's as to whether people are available or not, so I think we can accommodate that.

MR. KEIZER:  Thank you, Madam Chair.

CHAIR SPOEL:  Is there anything else?

MR. KEIZER:  Those are our preliminary matters.

CHAIR SPOEL:  Just in terms of scheduling, Board Staff did put together a hearing schedule.  Obviously, we're starting late.  Also, the Board has to -- has to stop by 4:45 this afternoon.  We do -- and it managed to only take up two days.  We have got three set aside, so I don't think we will have a problem getting through everything.  I would also note there is no time on the schedule for us to ask any questions, which we might have, so we will just carry on through the schedule with the sort of time estimates that people have given, and we will stop at the appropriate times and then keep going when we resume.  So we are not going to try to squeeze it into the two days necessarily.  We will take the time to do it --


MR. KEIZER:  Madam Chair, hopefully by the time of the end of the presentations I will be able to give you some kind of an update as to ETA, given the subway issues that we have today.

CHAIR SPOEL:  Yes, I am aware of those.  Okay, thank you.

In that case, I have -- Mr. Hanchet, I have you on first to make a presentation on behalf of Save PDI Coalition.  If you would like to provide us with that, and if you have any hand-outs --


MR. HANCHET:  I do.

CHAIR SPOEL:  -- you could just bring them up to us.  That is probably the easiest thing, and then the floor will be yours.

[Presentation handed out to Board Panel members.]


CHAIR SPOEL:  Thank you very much.

MR. HANCHET:  This is more or less what I intend to say.

CHAIR SPOEL:  Okay, thank you.  Do you have an extra copy of this by any chance for Board Staff?  You have given it to them already.  Thank you.  Should we mark this as an exhibit?

MR. MILLAR:  I think so.  I don't believe it was filed otherwise, so why don't we mark it as an exhibit.  Mr. Keizer, do you and Mr. Rodger have copies or were you circulated?

MR. KEIZER:  We do not, no.

MR. RODGER:  No, no copies.

MR. MILLAR:  Okay.  Well, let's mark it and let's see how we do.  I believe it will be K1.1, and it is the presentation notes from Save PDI Coalition. 
EXHIBIT NO. K1.1:  PRESENTATION FROM SAVE PDI COALITION.

MR. MILLAR:  And I think we can have it brought up on the screens.

MR. HANCHET:  It is just Word.

MR. KEIZER:  Madam Chair, we're not -- we don't want to hold the proceeding up.

CHAIR SPOEL:  I think, Mr. Hanchet, you can proceed with your presentation and people can read this later if they need to.  Thank you.  You have to press a button.
Presentation by Mr. Hanchet:


MR. HANCHET:  There.  Now it is on.

CHAIR SPOEL:  Thank you.

MR. HANCHET:  Good morning, everybody.  My name is Guy Hanchet, and I am honoured to have the time to talk about the Save PDI Coalition from the perspective -- from the sale of PDI from the perspective of citizens of Peterborough.

So I am here on behalf of the Save PDI Coalition representing workers, researchers, customers, and concerned citizens.  Together starting in 2016, we organized on behalf of Peterborough citizens and PDI customers to oppose the sale of Peterborough Distribution Inc. to Hydro One.  And I am here to convey to you how we believe this will harm our community, and to suggest that the decision is pretty straightforward.  Please vote no.

The citizens of our community don't want it.  It would increase rates and reduce service.  It would harm our local control over our distribution system, and it would harm our energy resilience right as we enter the era of climate chaos.  By voting no, you can say yes to local citizen control and power.

First of all, an overwhelming majority of Peterborough citizens opposed this sale, according to two polls conducted by Environics in the months leading up to the sale, over 90 percent of the citizens said they were against it, 90 percent.

In all the public consultations on the question of the sale, citizens spoke passionately against it, with almost total unanimity.  A petition opposing the sale gathered about 500 signatures.  It's fair to say that the sale was approved by council against the will of the vast majority of citizens.

Despite vigorous public opposition, the political result was a disappointing vote on December 15th to go ahead with the sale.  The vote was very divisive, and the motion passed by a narrow six-to-five margin.

Citizens coalesced after that vote to support a more progressive council under the banner "Vote for sustainable Peterborough".  We elected a new council and replaced the mayor, and many of supporters of the sale in the next municipal election in October 2018.  Based on the new council members' statements and records, it is very unlikely that Peterborough's current council would have approved this sale in the first place.

One of their first actions as a new council was to meet, to see if there was a way to intervene and block the sale.  They were advised against that course of action for reasons that are not available to the public.

So the public didn't and doesn't want this sale.  Why not?  Because of the harms anticipated to our community. Beyond the obvious harm to citizens faith in our democratic processes, I would like to highlight the other ways this sale would harm us.

The first harm most people have paid attention to is Hydro One's reputation for poor service and high distribution rates.  I know you will be hearing more about these arguments throughout the rest of this hearing.  To sum it up from the citizens' perspective, we believe that we would be paying more money for worse service.

But there's much more.  Losing municipal control over the utility risks harm to our community.  When we began our advocacy work, we brought up our serious concerns about losing control and they were dismissed.  We were told your electricity rates will be set by the Ontario Energy Board, so you won't have control anyway.

But they were missing the point because, as you all know, controlling a utility is about much more than just controlling the rates.  It's about the ability to connect local energy sources to local energy users.  Control is also about being able to make our own decisions that reflect our own local interests.

The alternative, which is what the sale offers us, means having to accept decisions from far away that we would have little influence over, and that might not be in our local interests.

Hydro One, a huge company that is increasingly focussed on international business and large urban centres, is less likely to adapt to the future needs of a small city like Peterborough when we need it.

Whatever economies of scale there might be, if any, would dictate that more populated centres will be serviced first.  This would leave Peterborough unable to innovate in support of its own local needs.

I worked in the private sector for most of my life.  I know, as I'm sure you do, that a private company's prime objective is to maximize profit for its shareholders.  Today, the City of Peterborough is the sole shareholder of our energy distribution system, so profits stay in the community.  They don't flow away, as they would if you approve the sale.

If sold, the steady income that the utility provides the city today would be lost.

After all, this is a public utility, a natural monopoly that belongs to the public.  It was built with public funds.  It has served the public well for a hundred years.  Citizens are happy with it.

Peterborough, that sometimes calls itself "the electric city", is proud of its distribution system.  Selling it to a remote private company, no matter what regulations may be in place, is a foolish attempt to fix a problem that the citizens simply do not have.  Instead, it introduces problems where none currently exist.

The issue around local control has never been more critical.  Just this September, Peterborough declared a climate emergency.  Our declaration recognizes the transformational chaos that is upon us as a result of the changing climate and the global energy crisis.

We know that we all need to work to transition to more distributed, diversified, renewable fossil fuel-free energy and distribution systems. Most energy analysts assert that communities with local control over their energy needs will best be able to adapt to the challenges of the climate crisis.

Because local energy resilience depends on local ownership of distribution facilities like PDI, its sale would reduce our city's ability to make changes in response to the climate emergency that faces us all.

In addition to these harms, there's been much talk about economies of scale.  No doubt you will hear plenty about that from other people today.

The underlying implication behind these arguments is that PDI is too small to succeed.  But it's not.  The fact is it has been succeeding, and there are many other local distribution companies in Ontario that are smaller, that are also succeeding.

In fact, as I am sure you know, the Ontario Energy Board's most recent scorecard ranks these smaller companies and PDI quite highly.  Embrun, Ontario, for example, runs a distribution cooperative with only 2,000 households as efficiently as PDI with our 35,000 households.

Right now, in Germany and other European countries, many municipalities are struggling to regain public ownership and control of the utilities that they were forced to sell over twenty years ago.  We should learn from the examples in Europe, take their experience as a warning, and avoid that problem in the first place.

If we sell PDI now for short term promises of rate freezes, and even shorter term guarantees of jobs, it will be decades before we can get it back, and the task will be expensive and complicated.

Through all our engagement, we've seen no compelling reasons to believe that the sale would make anything better for us, the citizens.  On the flip side, there seems to be quite a lot of evidence that it might make things worse, in terms of rates and service levels and local control over our distribution system.  And most importantly, it would reduce our energy resilience right as we enter the era of chaotic climate change when we will need it most.

For all of these reasons, we ask you to reject this sale.  Saying no to this sale means saying yes to local citizens, to local democracy, to local control of power distribution, and to local energy resilience.

That is the real bottom line.  Thanks for listening.

CHAIR SPOEL:  Thank you.  Thanks very much, Mr. Hanchet.  That was a very helpful presentation, and we appreciate you taking the time to come here on a nasty, snowy day.

Mr. Kehoe, you now have an opportunity to provide us with your comments, which I take it are with respect to the Orillia sale.

MR. KEHOE:  Madam Chair, when I...

MS. GIRVAN:  You have to turn your mic on.
Presentation by Mr. Kehoe:


MR. KEHOE:  I thought I did.  Madam Chair, I want at this time to parrot exactly the speaker's comment here for Peterborough and apply it to Orillia.

The feeling is exactly the same.  The percentage of the people against it is certainly the same, and thoroughly opposed.

The other item that I wish to put in is -- relates to the debt of Hydro, and the fact that Hydro's ownership is of course the Province of Ontario, and the Province of Ontario have a debt of $24,000 for every man, woman and child in this province.  And to think that they won't require an additional dividend is really poppycock.

Close to 60 percent of the former Hydro has been sold and those stockholders are going to want dividends, and they're going to want appreciation in their stock and that, in turn, is a debt.

So what I intend to submit in my submission is the up-to-date Bonnie Lysyk report reporting to the debt, and say that it is next to impossible to get an exact debt from the hydro corporations collectively.

When the former Ontario Hydro broke into multiple corporations, such as Ontario Power Generation, Ontario Hydro Services Company, Hydro One, the Independent Electric Safety Authority, the Electrical Finance Corporation, and the Independent Electric Systems Operator, all of which are amalgamated in their debt.  And their debt is monumental to what they would certainly put on the shoulders of a poor, well-run utility that has been in business for 117 years.

And in the case of Orillia, Orillia played a major role in the setting up of the original Hydro Electric Power Commission that happened six years after the Orillia utility was in full business. And that would be the, to sum up, the financial side.

The second side would be self-explanatory, in terms of the session before the Ontario Energy Board, and most of the members here have been copied with that.  It will be certainly the copy material that I will forward.  And one of the critical situations in converting to corporations is that freedom of information is something of the past.

The utilities and Hydro One and their subsequent corporations have been added to it, are exempt, and I, sitting on the Board of the former Orillia Water Light & Power Commission for 19 years, have attempted here now for going on four years to get the material that was on file during the duration of my tenure with the utility.

One major reason is the out-and-out bald-faced lies that were told to our utility by the former Hydro -- the former Ontario Hydro.  And the signed contracts that fixed what the rates and what could happen and did happen, along came the Systems Financial Operator, and he completely ignored these contracts.  And for four years I have been trying to get my hands on that segment that had a great effect on the -- a terrible effect, it said, on the Orillia consumers.

And case point in point is Ontario Hydro came to our utility and said they have a great, great problem, inasmuch as Gravenhurst, Bracebridge, and Huntsville are growing at a phenomenal rate and they haven't got enough proper means to get the power to them.  And they asked if we would take credit at the Orillia Transmission Station, they in turn would administer our lines and run their power from the Orillia Distribution System up to look after things, and we would not have any maintenance or any requirement.  That was -- that was a handshake, followed by a contract, and in comes the new corporations, and you had the Independent Electricity Systems Operator said, to hell with that, with the former contracts.  It's going to be this way or the highway.

In other words, the power lines that we gave to then Ontario Hydro, and they came along on later dates and said they would buy them was ignored, because the system as a financial group said absolutely and positively no.  Anything that comes over an Ontario line will be the same across the province.

And that, those contracts I have to bring forward, and the Ontario Energy Board have the authority to acquire them.

And the last thing that is self-important is the transfer that has taken place to the corporations.  And it was done, in our opinion, completely and positively illegal.  According to the act at that particular time we were looked on as a body corporate.

And the two things that happened by resolution of the people that are part and parcel of our democracy, our Canadian democracy, and the rights and freedoms now of Canadians were completely and positively ignored by one senior Cabinet minister that put in a clause that allowed to overrule two referendums, one referendum saying that the utility was taken away from town council at that particular time and the Orillia Water Light & Power was a separate -- well, separate -- well, I would call it industry, but utility.  And the second was a referendum of the people here now in the former Hydro Electric Power Commission came into Orillia with 20 people to lobby to try to get control of Orillia Power, and the citizens turned down the sale.  Those two are important items.  And they, in turn, are items here now that are before the Attorney General.

Now, the last item I might just speak of is that the timing of this event and the timing of Procedural Order No. 9 happened in the case when we were in Florida.  And they were applied to conform to this end.  We had no means on there, because the 28th of the month was the American Thanksgiving, one of the most important or the most important holidays in the United States, and our only source of computer to answer and reply to this was the public library, and low and behold, the public library was closed on their Thanksgiving Day and the following day.  And the day following was the day that we come back.

And since then, when we came back on the 1st, I had a very scenic trip here from the airport yesterday morning to Orillia to drop my wife and suitcases off and find some of the material for this event, and then drive back yesterday on that beautiful freezing rain and storm all the way so I could be here.

And that pretty well concludes my comments, but the important thing that I certainly parrot exactly the presentation of the speaker before me.  So I would like that written into the record here.

CHAIR SPOEL:  Yes, it is, in fact.  There is a transcript, so your entire presentation has been recorded.

MR. KEHOE:  Hmm-hmm.

CHAIR SPOEL:  So we have it all.  Thank you, and I do appreciate you coming here.  We unfortunately don't have any control over the weather.  That is why Hydro One -- one of the Hydro One witnesses isn't here yet, because he is stuck somewhere.

So thank you so much for coming and for making your views known.  Thank you.  Appreciate it.

Okay.  So do we have any estimate, any indication yet of when -- where Mr. Andre is?  Trying to extricate himself from the Toronto Transit Commission, or wherever he is stuck.

MR. KEIZER:  I don't usually look at my cell phone during a hearing, but I did today.  I have not yet received an update.  I know he was progressing along the Bloor line and now apparently the subways were shut at St. George.  So he is trying to get here, so I can't give an exact estimate of timing.

CHAIR SPOEL:  What I suggest we do is we break now, and then you can let Board Staff know when he will be in the building and when we're ready to go.  When he is here and when he has had a chance to catch his breath, we will get started.

I did want to raise one item in terms of scheduling.  Mr. Stephenson, I notice that you are the last on the list of people to cross-examine.  But I am assuming that your client supports Hydro One's applications here?

MR. RICHARD STEPHENSON:  That's correct.

CHAIR SPOEL:  So I think it would be more appropriate if you were to cross-examine earlier in the proceeding rather than last, given I am assuming your cross-examination will be -- well, it would be supportive.

So if you could maybe reorganize yourself and perhaps go --


MR. RICHARD STEPHENSON:  That's fine.  As long as I'm not going first.

CHAIR SPOEL:  Because you're not ready, I would assume?

MR. RICHARD STEPHENSON:  Let's put it this way.  I wasn't asked to go first, and I hadn't governed myself in that manner.

CHAIR SPOEL:  I understand that and we aren't asked you asking you to go first either, because we assumed that might be a problem.  But maybe you could go after Mr. Shepherd.

MR. RICHARD STEPHENSON:  That's fair.

CHAIR SPOEL:  Before Board Staff.

MR. RICHARD STEPHENSON:  For sure.  That's fine.

CHAIR SPOEL:  We would appreciate that.  So with that, we will adjourn now and we will resume when the witnesses are available.
--- Recess taken at 10:35 a.m.
--- On resuming at 11:15 a.m.

CHAIR SPOEL:  Good morning.  Please be seated.

All right.  Oh, where are we?  Probably looking for you, Mr. King.

MR. KING:  I think you are looking for me.

CHAIR SPOEL:  Okay.  I was looking for Mr. Keizer and not finding him.  Your witnesses are now all here, I take it?

MR. KING:  They are.  The front row of five witnesses are Hydro One witnesses.  Behind them to the left are two Orillia witnesses and to the right are two Peterborough witnesses.

CHAIR SPOEL:  Thank you very much.

So the witnesses -- so the witnesses should be affirmed.  Maybe, Mr. King, you can introduce us to them and then they can be affirmed.

MR. KING:  Sure.  I will start -- maybe I will do the Hydro One witnesses and Mr. Rodger will take care of the utility witnesses.

So starting furthest from me is Mr. Imran Merali.  He's the vice-president of customer service.

Next to Mr. Merali is Mr. Peter Faltaous.  He is the acting director of distribution asset management.

Next to Mr. Faltaous is Henry Andre.  He is the director of pricing and load forecasting.

And then to Mr. Andre's left is Ms. Joanne Richardson.  She is the director of major projects and partnerships.

And then finally, sitting on the end is Mr. Andrew Flannery.  He is a senior regulatory advisor at Hydro One.

MR. RODGER:  And in the second row, to the far left we first have Mr. Grant Hipgrave, who is the president and CEO of Orillia Power Distribution Corporation.

Next to Mr. Hipgrave is Mr. Patrick Hurley, who is the chief financial officer of Orillia Power.

Next is Mr. John Stephenson, the president and chief executive officer of Peterborough Utilities Group.

And then next to him is Mr. David Whitehouse, who is the VP of customer corporate services and a conservation officer at Peterborough Distribution Inc.

CHAIR SPOEL:  Thank you.

MEMBER ANDERSON:  Thanks.  We will have you affirmed.
HONI / PDI / ORILLIA PANEL 1

Mr. Imran Merali,
Mr. Peter Faltaous,
Ms. Joanne Richardson,
Mr. Henry Andre,
Mr. Andrew Flannery,
Mr. Grant Hipgrave,
Mr. Patrick Hurley,
Mr. John Stephenson,
Mr. David Whitehouse; Affirmed.

MEMBER ANDERSON:  Thank you.
Examination-In-Chief by Mr. King:

MR. KING:  Maybe I could just take the Hydro One witnesses through some direct, and I will ask Mr. Rodger to then take the direct.

I am wondering if we could start just by identifying areas of responsibility for which each of you will be responsible.  So I will start with you, Mr. Merali.  You're vice-president of customer service, correct?

MR. MERALI:  That is correct.

MR. KING:  Could you briefly describe your area of responsibility?

MR. MERALI:  At Hydro One I'm accountable for all aspects of customer service.  That includes our contact centre, our digital channels where we engage with our customers, and our key account management team.

MR. KING:  Thank you.  Mr. Faltaous, maybe you could briefly describe your area of responsibility.

MR. FALTAOUS:  So I look after the distribution asset management team, which is accountable for all of the planning and engineering activities on the Hydro One distribution system.

MR. KING:  And Mr. Andre, your area of responsibility?

MR. ANDRE:  I'm the director of pricing and load forecasting at Hydro One, responsible for the setting of rates for the distribution and transmission businesses of Hydro One.

MR. KING:  And Ms. Richardson, what is your area of responsibility?

MS. RICHARDSON:  I'm the case manager for these two applications.  I will be speaking to the shared services cost, some of the IFRS areas, and various different items that may not be covered by my colleagues.

MR. KING:  And finally, Mr. Flannery, could you briefly describe your area of responsibility?

MR. FLANNERY:  I'll be speaking to items such as the earnings sharing mechanism, depreciation, accounting policy, and tax.

MR. KING:  So with that, Madam Chair, I just have a very small amount of substantive direct.  I have three questions for Mr. Andre aimed at sort of highlighting the cost allocation and rate design issues that you will hear about over the next day and a half or two days.

And then we filed with the Board on Thursday a brief presentation on Hydro One's forecast methodology.  It consists of, I think, five slides.  It was filed on Thursday, and I am going to ask Mr. Faltaous to take us through that.

CHAIR SPOEL:  Mr. King, do you by any chance have any hard copies of that presentation that we could have?

MR. KING:  I do.  I have several hard copies.

CHAIR SPOEL:  If we could have them.  We could write notes on them.  It makes it a bit easier to follow.  Thank you.

[Hydro One documents distributed.[


MR. KING:  So if anyone else wants any hard copies, I will leave them on the desk next to me.  I will start with you, Mr. Andre.

Hydro One has set out in evidence its approach to cost allocation and the treatment of Orillia and Peterborough ratepayers.  What are the material differences between the Hydro One cost allocation model used in this application and the OEB's cost allocation model?

MR. ANDRE:  So Hydro One's cost allocation model is based on the OEB's cost allocation model, and it uses the same underlying cost causation principles to allocate costs across all rate classes.

Hydro One's cost allocation model includes some refinements with respect to the identification of sub-transmission assets used to serve embedded customers, the use of density factors for some classes, and the use of minimum system inputs specific to Hydro One's distribution system, all of which have been previously reviewed and approved by the OEB in prior Hydro One rate proceedings.

With respect to the allocation of costs to the new acquired classes that we propose in the MAADs application, the only modification is to introduce adjustment factors that directly allocate the local distribution assets specifically used to serve the acquired customers to the respective acquired residential and general service rate classes.

The direct allocation of costs is a generally accepted cost causality principle that is also permitted within the OEB's cost allocation model.

The allocation of all other costs, including direct and shared OM&A costs, as well as all asset-related costs, are allocated to both the legacy and acquired classes using the same cost causation principles underlying the OEB's cost allocation model.  So in other words, all of those costs are done exactly the same way for both legacy and acquired customers.

MR. KING:  Thank you.  And in Hydro One's most recent distribution case -- this is EB-2017-0049 -- there was consideration by the OEB of Hydro One's cost allocation approach for its acquired customers.

What are the changes made to Hydro One's cost allocation model filed in this application, given the OEB's conclusions in that proceeding?

MR. ANDRE:  So Hydro One has made two key changes to its proposed approach.  The first is that we committed to continue tracking the specific capital investments made within the acquired service territory beyond the ten-year deferred rebasing period in order to be able to recalibrate the direct allocation adjustment factors at the next rebasing application.  This was a specific concern identified by the Board in the EB-2017-0049 proceeding.

The second is that we modified the allocation of upstream distribution facilities to the acquired rate classes in order to better reflect the amount of electricity actually delivered through upstream facilities versus electricity that is supplied from distribution facilities located within the acquired service territory.  In other words, they're using the local territory of Orillia or PDI are using upstream distribution facilities.  Now we adjust the amount that is of upstream facilities that are allocated to reflect the amount of load that comes from upstream facilities. because in a lot of cases, Orillia and Peterborough have their own load, have their own station supplying local load.

So now we adjust the upstream facilities only to capture the load that actually comes from upstream facilities.

I would add one other thing.  In the current applications, Hydro One's also committing to ensure that at the time of rate harmonization, the costs to be recovered from acquired customers, at a minimum, recovers the incremental revenue requirement that Hydro One requires to serve those customers, and at a maximum, does not exceed the costs the acquired customers would have paid had they not been acquired by Hydro One.

So in our evidence, we refer to those upper and lower limits as the goalposts for setting the costs to be recovered from acquired customers through rates.

MR. KING:  Finally, Hydro One's cost allocation model has certain adjustment factors.  Can you explain why adjustment factors are used, and how this impacts Hydro One's cost allocation?

MR. ANDRE:  So because the new acquired utility rate classes are associated with a well-defined service territory for which Hydro One knows exactly the amount of assets, local distribution assets being used to serve those customers.

Hydro One has used adjustment factors to directly allocate the cost of those assets to the respective acquired residential and general service rate classes.

The correct allocation of assets is critically important because, as you know, the OEB's cost causation principles which underlie Hydro One's cost allocation model, uses the amount of assets required to serve each rate class as the basis for allocating the majority of all other costs within the model, including most OM&A costs both direct and shared, and all asset-related costs like depreciation, net income, cost of debt and taxes.

Our use of adjustment factors is intended to treat all acquired and legacy customers fairly by ensuring that the appropriate amount of assets are allocated to all rate classes, which as I said before, in turn drives the appropriate allocation of all OM&A and asset-related costs.

MR. KING:  Now maybe I will turn to you, Mr. Faltaous, to take us through your presentation on Hydro One's forecasting of capital costs and OM&A, and the methodology and process that Hydro One uses.
Presentation by Mr. Faltaous:


MR. FALTAOUS:  Thank you, Mr. King, and good morning, panel.

So if we can just go to the first slide, please -- or sorry, slide number 2.

CHAIR SPOEL:  Mr. King, should we be marking this presentation as an exhibit?

MR. KING:  Yes.  We should.

MR. MILLAR:  Madam Chair, it will be Exhibit K1.2 and that is the Hydro One presentation for examination in-chief. 
EXHIBIT NO. K1.2:  HYDRO ONE PRESENTATION FOR EXAMINATION-IN-CHIEF


CHAIR SPOEL:  Thank you.

MR. FALTAOUS:  Okay.  As you can see on this slide, we start off with all of the Hydro One investment areas, which are all the different areas of investment needed to manage a distribution system.

This includes investments on the OM&A side, like vegetation management, trouble calls and locates, motoring, line maintenance and repair, as well as distribution station maintenance and so on, as well as investments on the capital side like wood pole replacements, stations new customer connections, load growth investments, et cetera.

From there, we identify for each of these areas what the additional costs are needed to manage that area of investment for the LDC.  We also look at the LDC-specific characteristics, such as the condition of their assets, where they're at with environmental compliance such as PCB, and any other characteristics that would impact each area of investment, and adjust as needed to appropriately reflect the specifics of the LDC for that area of investment.

Following that, we map each of these adjusted investment areas to an appropriate demographic to ultimately get an average dollar for that demographic, such as the average dollars of OM&A needed per circuit kilometre of line.

If we can go to the next slide?  So we now take these average dollars per demographic and we scale to the size of the LDC, based on the LDC's demographics.  So as an example, we would take the OM&A dollars per circuit kilometre, and we would multiply it by the number of circuit kilometres for the LDC to get the OM&A dollars attributed to circuit kilometres.

We then do this multiplication for all of the factors that are categorized as operations OM&A, and we add them up to get the operations OM&A cost needed to operate the LDC.

We then turn that cost into a per-customer factor, which is what you see on the right.  So using a similar process to what I just described, we derive the customer care OM&A dollars per customer, sustainment capital dollars per customer, and growth capital dollars per customer.

If we can go to the next slide, please?  So we start out with all of these costs per customer factors that we just derived.  We then use our customer count forecast over the 10-year period, applying inflation and productivity to determine a 10-year dollar forecast for each of the items.

The next step incorporates adjustments for other costs not already captured in the per-customer factors, such as property taxes, operations centre lease, and any other investments deemed to be required such as, in the case of Peterborough, additional station investments.

That translates to years 1 to 10 forecast for each of the line items you see in this table.  And if we add up all of the OM&A line items and all of the capital line items, we get the Hydro One forecast in the evidence for each of Orillia and Peterborough.

And if we can go to the next slide, please?  So these are essentially the Hydro One forecasts which appear in table one of Exhibit A, tab 2, schedule 1 in the evidence respectively for both Peterborough and Orillia.  Thank you.

CHAIR SPOEL:  Could I just ask a clarifying question?

MR. FALTAOUS:  Of course.

CHAIR SPOEL:  When you do your average dollars per demographic, is that for Hydro One Networks Inc. as a whole, or is that done area by area?

MR. FALTAOUS:  So what we do is for each area of investment, we're making the adjustment specific to the LDC.  Then we are determining an average dollar per demographic for that specific demographic -- so circuit kilometres being an example.

At that point, it is the average dollars needed to manage accounting for the LDC specific characteristics per unit, so per circuit kilometre, in this case.

CHAIR SPOEL:  Right.  But I understand that each LDC or each -- let's just take Peterborough as an example.  You've got a certain number of kilometres of circuit in Peterborough.

MR. FALTAOUS:  Correct.

CHAIR SPOEL:  So you apply a factor to that.  I get that part of the calculation.

My question is that when you do your average, when you do your -- before you categorize by demographic and you add those things up, when you do your Hydro One investment areas -- let's just take vegetation management as an example, you have a cost an incremental cost or cost for vegetation management.

MR. FALTAOUS:  Correct.

CHAIR SPOEL:  Is that Hydro One's average vegetation cost throughout Hydro One's entire territory that you then scale to the number of kilometres of circuit line or the right-of-way kilometres, et cetera, et cetera, in Peterborough?

Or do you look at the vegetation management costs?  Like what do you start with is my question.

MR. FALTAOUS:  So the starting point is Hydro One's vegetation management investment level.  That is a starting point.

CHAIR SPOEL:  Overall?

MR. FALTAOUS:  Correct, for Hydro One.

CHAIR SPOEL:  You have answered my question.  That is what I wanted to understand.  You take your overall cost and then you look at how much of that would you be attributing to Peterborough and for, say, vegetation management, it is probably related to the number of kilometres of right-of-way, I would guess.

MR. FALTAOUS:  Correct, correct.

CHAIR SPOEL:  So you would be scaling it based on that demographic, that kind of demographic, i.e. kilometres of right-of-way.  But the input in terms of your cost is the cost for Hydro One as a whole.

MR. FALTAOUS:  Correct.  That is a starting point.

CHAIR SPOEL:  That is what I wanted to clarify.  It wasn't entirely clear to me.

MR. FALTAOUS:  Thank you.

MR. KING:  Subject to any further questions from the Panel, I think the witnesses are available for cross-examination.

CHAIR SPOEL:  Mr. Rodger, do you have any direct examination of any of your witnesses?

MR. RODGER:  No, I don't, Madam Chair, thank you.

CHAIR SPOEL:  All right.  Thank you very much.  Then, Mr. Shepherd, I think that the floor is yours and the microphones are yours, or whatever.
Cross-Examination by Mr. Shepherd:

MR. SHEPHERD:  Thank you, Madam Chair. Madam Chair, I have I a compendium which should have been delivered to you and I wonder if we could mark that as an exhibit.

MR. MILLAR:  K1.3.
EXHIBIT NO. K1.3:  SEC CROSS-EXAMINATION COMPENDIUM FOR PANEL 1


MR. SHEPHERD:  This may be volume 1 of 2, depending on how long it takes to get through volume 1.  And everything that is in this compendium is on the record, except for a few materials that I sent to my friends last week.

So I want to start with two items, one in the Orillia case and one in the PDI case, and that is on pages 2 and pages 4 of our materials, interrogatory 44 in the Peterborough case and Staff interrogatory 12 in the Orillia case.  Do you see those?

MR. ANDRE:  Yes, I do.

MR. SHEPHERD:  And are these -- are these tables in these two interrogatories, are they your responsibility, Mr. Andre?

MR. ANDRE:  Yes.  My team put them together.  Some of the data comes from a variety of sources, but the putting together of this table was my team that did it, yes.

MR. SHEPHERD:  Awesome.  Okay.  So why don't you just briefly describe what these tables are.  There is two in each.

MR. ANDRE:  Right.  So the tables, there's a table for PDI and a table for Hydro One.  Those are the two tables in each interrogatory.  And in each table what we show is what the revenue that's currently being collected from customers in 2019, so today's revenue being collected from customers, and then escalates that or forecasts what those numbers -- what the revenue to be collected from customers would look like in years ten with consolidation, so if the acquisition is approved, and year ten without consolidation.


And then year 11, which would be the year that the rates would be harmonized or the resetting of rates would happen, both with consolidation in the second-last column and without consolidation in the last column.  And that is done for, as I say, in the first table for PDI, in the second table for Hydro One, and then there is a similar interrogatory response for Orillia.

MR. SHEPHERD:  So when -- the column that says year 11 without consolidation, that's -- there is no deals?  There's no consolidation of either utility assumed in this.

MR. ANDRE:  That's correct.  So what you see in year 11 is the costs that would otherwise be levied by Peterborough in this case, plus the LV charges that PDI customers would pay.

So it reflects the total costs that would be paid by PDI customers in year 11 if the acquisition was not approved.

MR. SHEPHERD:  And so just looking at page 2 -- by the way, let me just clarify one thing.  Can you go to page 5?

So page 2 is PDI, right?  And page 5 is OPDC?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  So OPDC, it doesn't say "revenue collected".  It says "revenue requirement".  It is revenue collected, right, in both cases?

MR. ANDRE:  Yes, it is, yes.  It is revenue collected, because even for PDI and OPDC it accounts for the dollars that customers would have to pay as an embedded utility, which is the comparable number with consolidation, because without -- sorry, without consolidation.

So without consolidation when Hydro One takes them over and levies them charges, we would be applying the costs of upstream distribution as part of their base rates.

So in order to compare the with consolidation and without consolidation you have to account for the fact that in both cases they will be paying for upstream distribution facilities, but it is revenue collected.  We just didn't make that adjustment in the OPDC labelling of the table.

MR. SHEPHERD:  Well, if you go to page 8 of our materials -- I am going to come back to pages 2 through 7.  Don't worry.  But if you go to page 8, you had a discussion with Mr. Harper about revenue collected.

And revenue collected assumes that not everybody's going to pay on the basis of a one-to-one revenue-to-cost ratio.  Right?

MR. ANDRE:  Revenue collected means that you are showing the costs that would actually be collected from customers, given the -- you know, being within the approved or cost ratio range that the Board has established.

So it does represent the actual costs that customers would have to pay.

MR. SHEPHERD:  But it's not the costs allocated to them, it is the costs they would pay in rates.

MR. ANDRE:  It's the costs that they would pay in rates, which is the costs that we're asking to collect from them.  When you say the costs allocate -- so the cost allocation model, you know, allocates costs, and then it establishes what revenue-to-cost ratio those allocated costs are.

And the Board has a range of approved revenue-to-cost ratios.  Cost allocation is not an exact science, and so the Board has accepted that costs within a range of approved revenue-to-cost ratios accurately or adequately defines the actual costs to serve a class.

So I would say it does represent the costs to serve that class.  But it isn't the one-to-one --


MR. SHEPHERD:  Well, sorry --


MR. ANDRE:  -- revenue-to-cost ratio.

MR. SHEPHERD:  Sorry, it's not the costs you're allocating to class, right?  That's what I'm trying to distinguish.  I am not trying to catch you on anything.  Revenue collected is a perfectly legitimate concept, it is just a different concept than allocated costs, right?

MR. ANDRE:  Allocated costs at a revenue-to-cost ratio of one.  It is different than a revenue-to-cost -- than an allocated cost at a revenue-to-cost ratio of one.

The point I am making, Mr. Shepherd, is that there is -- cost allocation is an imprecise -- you know, it's -- there's factors and a whole bunch of things that go into cost allocation.

So I would suggest that any costs that are between the approved revenue-to-cost ratios that the Board has established adequately describes the costs to serve that class.

MR. SHEPHERD:  All right.  So if you go back to page 2, if you could, please.  And in the PDI section it says revenue collected, year 1 without consolidation, 26.3 million.  That -- and in 2019 it is 17.2 million.  So those numbers come from PDI, right?  Those are not your numbers?

MS. RICHARDSON:  That's correct.

MR. SHEPHERD:  Sorry, is your mic on?

MS. RICHARDSON:  That is correct, sorry.

MR. SHEPHERD:  All right.  And so, for example, where in PDI it has a total revenue collected from customers, which I guess, Mr. Andre, total revenue collected from customers is in fact the same as allocated costs, right?  Because in the end your total has to be one to one, right?

MR. ANDRE:  When it is for PDI, that's right.

MR. SHEPHERD:  Okay.  Yes, you're right, you're right.

So that increase of 17.2 million to 26.3 million over 11 years, that came from OPDC?

MR. ANDRE:  In this case PDI.  The 26 would have.  The 19 number is, you know, it's based on applying the approved IRM increases between 2013 and 2019 to the approved revenue collected from rates in 2013.

So you see the footnote under 2019, and that shows you how we arrived at the 17 number.  So it's not to say it was something that was provided by PDI.  It was a calculated number tied to their last cost-of-service revenue requirement.

MR. SHEPHERD:  Okay.  So I will come back to you, Mr. Andre.  Mr. Stephenson, is your revenue collected from customers in 2019 expected to be $17.2 million?

MR. JOHN STEPHENSON:  To make a point of distinction here, if I could.  If you look at some of the footnotes to this table, some things have been adjusted obviously for the comparison, I think, for this discussion that we would not reflect, including footnote regarding the low voltage charges and some of those other adjustments.

So I think the underpinnings of this analysis is our revenue requirement, but it has been adjusted in this table, obviously, to reflect the comparisons that Hydro One is trying to reflect.

MR. SHEPHERD:  Well, you do charge low-voltage charges to your customers, right?

MR. JOHN STEPHENSON:  I'm not really well-equipped to talk about low-voltage charges and what we charge and what we don't, to be honest with you.

MR. SHEPHERD:  Does anybody know whether PDI charges LV charges to its customers?

MR. ANDRE:  They do.  This would be -- yes.  This would be, yes.  So it shows in footnote 3 it includes the LV charges that would have been levied by PDI in 2019.

Just to be clear, like, so it is a revenue-requirement number.  So 2013 they would have had an approved revenue requirement.  That was their last cost of service.

Their approved revenue requirement would then have been increased in subsequent years as a result of the IRM adjustments.

So that's all that is, is their approved revenue requirement increased by the IRM adjustments that were approved for them, up 'til 2019.

MR. SHEPHERD:  It's not going to be significantly different from -- except for weather -- from their actual revenue in 2019, is it?

MR. ANDRE:  Weather and any changes in number of customers or load.

MR. SHEPHERD:  Didn't you adjust for those?

MR. ANDRE:  No.  This -- as I said, this was the revenue requirement from their last cost of service escalated for IRM increases that would have been approved for them.

MR. SHEPHERD:  It doesn't include increased number of customers?  Because I thought it did.  So...

MR. ANDRE:  Just give us a second, Mr. Shepherd.  I can confirm.  But based on the footnote and what I recollect my staff when we worked this out, the footnote is very clear, that the revenue requirement is footnote number 1 under the table.  It says the total revenue collected from rates is derived by applying approved IRM increases between 2013 and 2019 to the approved revenue collected from rates in 2013.

So that doesn't reference any changes to adjustments for load.

MR. SHEPHERD:  So similarly, year 11, that doesn't include increases in numbers of customers?

MR. ANDRE:  These are revenue requirement numbers, sir.  So no, they don't.

Obviously, when you are calculating rates, you have to adjust for number of customers potentially.  But this is a revenue requirement table.

MR. SHEPHERD:  Well, yes, except the part below it is revenue collected per customer, isn't it?  How do you do that without having numbers of customers?

MR. ANDRE:  So in the -- so, yes, when we do the calculation of a per customer, then obviously we need the number of customers to do that calculation.  But the derivation of revenue requirement is a function of the utility's costs, what their OM&A is doing; it is not a function of number of customers.

Obviously, the more customers you have, I mean it drives certain costs.  But the revenue requirement is done by looking at the utility's costs.

MR. SHEPHERD:  Okay.  So then the year 11 numbers -- now, the year 11 numbers without consolidation were prepared by PDI, right?

MR. ANDRE:  Except for the LV component, which was...

MR. SHEPHERD:  Yes.

MR. ANDRE:  Yes.

MR. SHEPHERD:  And that's simply what they've estimated is going to be their budget, their overall revenue requirement in 2030, given the escalation in OM&A and capital that they're expecting over that period.  Isn't that right, Mr. Stephenson?

MR. JOHN STEPHENSON:  Yes, it would be.

MR. SHEPHERD:  Okay.  And so the expectation is that revenue requirement, if this deal doesn't go through, will increase by 53 percent in eleven years, right?

MR. JOHN STEPHENSON:  I don't have that math in front of me, so I am not sure.  Maybe you could give me the calculation.

MR. SHEPHERD:  Well, will you accept, subject to check, that 26.3 minus 17.2 divided by 17.2 is 53 percent?

MR. JOHN STEPHENSON:  I would say, subject to check, that looks about right.

MR. ANDRE:  Sorry, if I could add, Mr. Shepherd?  Mr. Stephenson will know that, as I said, the 19 number that is shown there, though, is the 2013 revenue requirement escalated only for IRM.

So the 2019 number doesn't really reflect the revenue requirement if they were rebasing in 2019.  It is only the last approved 2013 escalated for IRM for a number of years.

MR. SHEPHERD:  It's not a cost of service number?

MR. ANDRE:  Correct.

MR. SHEPHERD:  It is an IRM number.  What was your -- what do you anticipate your ROE, your regulatory ROE to be in 2019, Mr. Stephenson?  Are we in the seven and a half range?  Is that right?

MR. JOHN STEPHENSON:  I would think that it would be similar to the experience that we saw in 2018, which was in the 7 percent range, which would be caveated of course for the fact that we're not running a full flight of resources, right.  So it is a bit of an artificial number.

MR. SHEPHERD:  Understood.  All right.  Just one other thing I want to ask about this, Mr. Andre.

Looking at the total line, would I be right in concluding -- if I look at the two year 11 numbers with and without consolidation, that the difference between 26.3 million, which is without consolidation, that's how much you are going to collect from customers, and the 20.6 million, which is with consolidation, that $6 million difference -- sorry, that $5.8 million difference because I can't count, is the benefit to the PDI customers of the consolidation in 2030?  Is that a fair conclusion?

MR. ANDRE:  Yes, Mr. Shepherd, that is a fair conclusion.  So if they were not acquired, the costs that we would be asking or that PDI would be asking customers to pay would be 26.3 million.

If Hydro One acquires them and consolidates them, we would be asking for them to pay 25.6.  So, yes, 5.75.

MR. SHEPHERD:  Sorry, 20.6.

MR. ANDRE:  Sorry, 20.6, yes.  So that is -- that does represent the savings of about 5.7 million to PDI customers as a result of the consolidation.

MR. SHEPHERD:  All right.  Now, on the next page, you have the Hydro One estimates.  These are all yours, right?  None of these came from PDI?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  And 2019 is from your draft rate order in EB-2017-0049?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  So that's your actual estimated 2019 revenue requirement?

MR. ANDRE:  Correct.

MR. SHEPHERD:  And you don't have low voltage charges, right, so they're not included in that?

MR. ANDRE:  That's correct.  Essentially, that's correct.  We do have a very small amount, but it wouldn't be in this number.

MR. SHEPHERD:  And you also -- but you have external revenues and they are included in this?

MR. ANDRE:  This would be the rates collected -- the revenue collected through rates. So external revenues would be off-setting our base revenue requirement.

MR. SHEPHERD:  So now if we go to year 11, we see that there's a difference with and without consolidation.  With Consolidation, you collect 1904.8 million.  And without consolidation, you collect 1909.7 million, right?

MR. ANDRE:  Yes.

MR. SHEPHERD:  And that difference, roughly $5 million, that's the benefit of acquiring PDI to your legacy customers.  Is that a fair conclusion?

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  So in PDI, what you're saying is if you -- if you acquire PDI, PDI customers will be better off in ten years to the tune of -- plus better off in the meantime, you're saying, to the tune of 5.8 million.  And your legacy customers will be better off to the tune of five million, roughly.

MR. ANDRE:  Roughly, yes.

MR. SHEPHERD:  Okay.  So then can we if to OPDC, which is pages 5 and 6?

Now, first of all, the same things are true, right?  The 8859 in 2019 for OPDC is 2010 escalated, right?

MR. ANDRE:  The 2010 costs from their last cost of service escalated to 2019.  So it includes IRM for those years.

I would note that OPDC actually didn't have an IRM increase for 2017, '18 and '19.  So there is only six years of IRM increases built into that 2019 number.

MR. SHEPHERD:  And, Mr. Hipgrave -- or Mr. Hurley, I don't know who -- Mr. Hipgrave perhaps, that 8859, is that roughly the revenue you expect in 2019?

MR. HURLEY:  So again, subject to the fact that it's been adjusted for low voltage charges, which is a fair amount of dollars there.  So if you add that in, I guess it would be a reasonable approximation, yes.

MR. SHEPHERD:  It's in the ballpark?

MR. HURLEY:  Just keep in mind we don't make a profit off of low voltage charges.

MR. SHEPHERD:  True enough, true enough.  All right.  And then in year 11, you have the same two totals at the bottom.  You have -- well, different numbers obviously.

That 14.4 million revenue in year 11, if you don't do this deal, that's from OPDC, right?

MR. HURLEY:  That's correct.

MR. SHEPHERD:  And that's simply your status quo forecast converted into a revenue requirement in 2030.  Is that right?

MR. HURLEY:  Yes, it is.

MR. SHEPHERD:  And similarly, the figure of 9586 that you see there in the total column -- which is yours, Hydro One, right -- that's what you expect to charge the OPDC customers in 2030?

MR. ANDRE:  Yes, those are the costs that would be collected from OPDC customers, yes.

MR. SHEPHERD:  And that's because of the various -- we're going to get to the details in a second, because of your adjustment factors and also because of revenue to cost ratios, right?

MR. ANDRE:  That is the -- that is, I would say, an accurate reflection, our best forecast of what costs Hydro One will be required to collect from PDI customers -- or sorry, OPDC in this case, in 2011 in year 11.

MR. SHEPHERD:  And, Mr. Hipgrave, will you accept, subject to check, that your forecast is for a 63 percent increase in revenue requirement over those 20 years?  Over those 11 years, sorry?

MR. HIPGRAVE:  We will accept that subject to check.

MR. SHEPHERD:  By the way, does that include the operations centre?

MR. HURLEY:  Yes, it does.

MR. SHEPHERD:  So in year seven or something like that, is it seven or eight or nine?

MR. HIPGRAVE:  I believe it is year eight.

MR. SHEPHERD:  Sorry, I couldn't hear you.

MR. HIPGRAVE:  I believe it is in year eight.

MR. SHEPHERD:  Year eight.  You spend, what, $8 million something on an operations centre.

MR. HIPGRAVE:  That's correct.

MR. SHEPHERD:  Okay.  And the same, Mr. Andre, the same conclusions can be drawn from this; that is, that difference between 14.4 and 9.6 in with and without consolidation on rebasing, that's the benefit to OPDC customers, right?

MR. ANDRE:  Yeah.  That is the decrease in costs that will need to be collected from OPDC customers, correct.

MR. SHEPHERD:  So that is a benefit to them?

MR. ANDRE:  Correct.

MR. SHEPHERD:  Okay.  Now, then the last of these pages, page 6, is the same thing as the Hydro One.  Now, I expected this to be very similar to page 3, but I was surprised to find that without consolidation you expect to collect a lot more from residential customers in one scenario as opposed to the other.

The totals are the same.  But the allocation between customers, classes is different.  Can you help me with that?  137.4 million versus 135 million.  If it was a rounding error I wouldn't ask about it, but it is a big number.

MR. ANDRE:  So the costs -- in both cases those numbers reflect the cost allocation model.  So the costs that are required to serve OPDC, given the cost allocation principles embedded within Hydro One or the OEB's cost allocation model results in a slightly different allocation of costs to OPDC versus PDI.

MR. SHEPHERD:  Sorry, we're missing each other.  I apologize.  I am looking at the right column, which is without consolidation.  So OPDC and PDI are irrelevant, right?  You didn't buy them.

So why would you have 137.4 million allocated to UR in one example and 135 in the other example?

MR. ANDRE:  So you can see the total across all classes is exactly the same.  1 billion, 909,000.

MR. SHEPHERD:  That is why it stands out, Mr. Andre.

MR. ANDRE:  Right.

MR. SHEPHERD:  They're all different, but that is the only one that is really a big difference.  It just seems odd.

MR. ANDRE:  Yeah.  So, sorry, Mr. Shepherd, offhand I can't tell you why the numbers would be slightly different for the one class.  Certainly the total that is collected from all classes is the same.  I don't have an answer for why it is slightly different.

MR. SHEPHERD:  All right.  So can you undertake to find out why you got a $2.4 million difference here?

MR. ANDRE:  Sure, we can undertake to do that.

MR. MILLAR:  That is J1.1. 
UNDERTAKING NO. J1.1:  TO EXPLAIN THE DIFFERENCE IN CUSTOMER CLASS ALLOCATION BETWEEN PDI AND ORILLIA.

MR. SHEPHERD:  And, now, if you look at year 11 with consolidation, you see that number nineteen oh-six nine sixty-six?  That number is different from nineteen oh-four seven sixty-two on page 3.

And the reason for that -- tell me whether this is right -- is because acquiring PDI and acquiring Orillia have different impacts on your legacy customers, right?

MR. ANDRE:  I wouldn't quite put it that way.  Using the cost allocation principles embedded within the OEB's cost allocation model, the amount of costs that are allocated to OPDC and PDI are slightly different.  They have different load profiles.  They have different, you know, a number of different consider -- they have different amount of direct assets associated with each -- serving each utility.

So it changes the costs that get allocated to PDI and OPDC and, therefore, by definition the balance -- which is allocated to Hydro One legacy customers -- would also be different.

MR. SHEPHERD:  Understood.  And on page 6 here, that difference between nineteen oh-nine six ninety-two and nineteen oh-six nine sixty-six, 2.7 million, just as with PDI, this is the benefit to legacy customers of acquiring OPDC.

MR. ANDRE:  That's correct.

MR. SHEPHERD:  Can we just add these two together to get -- that is the benefits -- can we just add the two benefits together if you acquire both of them?  Or is it more complicated than that?  And having spent the whole weekend looking at your CAM, I am assuming it is more complicated than that.

MR. ANDRE:  Yes.  If you did them together at the same time and brought them into one urban acquired class, it would get a slightly different result, possibly.

MR. SHEPHERD:  Order of magnitude would be similar.

MR. ANDRE:  I would expect so, Mr. Shepherd, but you are right in that the cost allocation model is a complex, you know, model.  And so by combining the two it might have slightly different results, but you would think order of magnitude certainly would be the same.

MR. SHEPHERD:  Okay.  So I want to go to page 7.  So what we did is we took -- in all of these tables that we just looked at, there is a per customer calculation, as well as the total revenue calculation.

So we took all of those and we looked at what the differences were if there's no deal.  So this is what the -- what people would pay in rates if there is no deal, right?

MR. ANDRE:  That is page 7 of your compendium?

MR. SHEPHERD:  Yes.

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  Okay.  So it is -- well, let me put it this way.  I called my schools in Brockville and told them that for the next 11 years they're going to have a rate increase of .58 percent per year and they thought it was a joke.

So why are your increases, your compound annual growth rates, so much lower than the Orillia and Peterborough growth rates?

MR. ANDRE:  So the assumptions used to escalate the revenue requirement are provided in the response to -- well, in the case of PDI in the response to I-1-48 that shows the derivation of all inputs into the model.

So if we could actually take you there.

MR. SHEPHERD:  Yeah, I am not so much concerned with the Peterborough and Orillia numbers, because, I mean, we have difficulties with their forecasts, but we'll get to those.  I'm sure that lots of people will talk about those today.  I am rather more concerned about the Hydro One forecast.

MR. ANDRE:  Right.  So the interrogatory that I referenced, I-1-48, if you go to page 8, you can see there that the assumptions that -- the inputs into the model -- yes.  Stop right there.  So you can see the assumptions around how we derive the 2030 revenue requirement for Hydro One and PDI is there, but you said you were looking at Hydro One.

MR. SHEPHERD:  Yes.

MR. ANDRE:  So the revenue-requirement numbers represent the average annual growth rate from 2017 to 2022, as approved in our recently approved distribution application EB-2017-0049.

So we use the actual increase in revenue requirement that you saw in our most recent distribution application, used that to adjust the revenue requirement.  And then if you scroll down, if you scroll down a little bit, you see the charge determinant.  So when it came to estimating the number of customers that would exist in 2030, we used the annual growth rate from 2018 to 2022 in terms of the growth rate in our number of customers.

So those are the numbers that -- so as I say, I think those are reasonable assumptions in terms of both the growth rate in number of customers as well as the rate change in revenue requirement.

CHAIR SPOEL:  Mr. Andre, just to make sure I understand this, what you're saying is you took the numbers -- you did a rebasing cost-of-service exercise in 2017.  Correct, 2017?

MR. ANDRE:  Well, that application, yes.

CHAIR SPOEL:  Whenever that decision was issued, and that gives you rates up to 2022.

MR. ANDRE:  Correct.

CHAIR SPOEL:  And then you've assumed that the increases from 2022 and on will continue to be at the same average percentage increase as in that five-year for which you have an IRM right now?

MR. ANDRE:  Yes.

CHAIR SPOEL:  You're not expecting that you will increase your -- when you rebase the next time, all things being equal.  If you didn't acquire anything new or things just ticked along, that when you come back in 2022 or in 2021 for 2023 rates, whenever it is you come back in, that you actually wouldn't be asking for any additional cost increase and you would just continue on getting the same percentage increase as you had from 2017 to 2022?

MR. ANDRE:  So I understand the question.

CHAIR SPOEL:  That's the assumption you have built into this?

MR. ANDRE:  Well, yes.  But, Madame Spoel, the assumption or the 2018 -- in 2018, those five years up to 2022, that first year of that five years includes a rebasing.

CHAIR SPOEL:  Right.

MR. ANDRE:  So the application had a rebasing and then four years of IRM.  So we averaged the increase of one year of rebasing plus 4 years of IRM, turned that into an average annual increase, and applied that going forward.

So there is that rebasing is built into the average, because it is included in the first year.

CHAIR SPOEL:  Thank you.  I didn't understand that.  That is helpful, thanks very much.

MR. SHEPHERD:  So, Mr. Andre, has Hydro One ever had a 10-year period in its history where its rates went up less than inflation?  The answer is no.

MR. ANDRE:  I don't have those numbers at my fingertips.  I know we have had years, certainly we have had years where we -- I think in 2012, we didn't apply for an increase.  We've had years where we've had IRM increases.

So I wouldn't know what that number is over the last ten years.

MR. SHEPHERD:  Your last application was custom IR?

MR. ANDRE:  Yes, it was.  And the one before that was also custom -- no, sorry.  Yes, the last one was a custom IR.

MR. SHEPHERD:  And your average rate increases in those applications, as I recall, were in the order of two and a half to three percent a year?

You see, these just look shocking to me; that is why I'm asking the question.

MR. ANDRE:  Well, so which number -- so because in this document that you have prepared, it shows UR, UGE and UGd, and you can see for the increase for UR is significantly different than for UGd.  So you're seeing some variability across the rate classes there.

I think the average increase in revenue -- we did start with a 2017 approved revenue requirement, took into account the 2018 rebasing that happened, plus then four years of custom IR in 2019, 2020, 2021 and 2022, and that is the average increase in revenue requirement that we calculated.

MR. SHEPHERD:  So will you accept, subject to check, that for OPDC in 2019 Hydro One, urban residential rates are 18.8 percent higher?  But you are forecasting that eleven years from now, OPDC will be higher?  Is that right?

MR. ANDRE:  Yes, because we have -- we have significant savings as a result of integrating them into Hydro One's cost structure.

MR. SHEPHERD:  No, no, no, these are no deal numbers.

MR. ANDRE:  Sorry, could you repeat which numbers you are...

MR. SHEPHERD:  This is all status quo stuff.  None of this has anything to do with your deal.

MR. ANDRE:  Sorry, could you repeat the numbers you were comparing?

MR. SHEPHERD:  Sure.  So Hydro One's UR is 4.24 per customer and residential is -- and Orillia residential is 3.57.

You say by the end of -- by 2030, Orillia will be higher than Hydro One.  That is your expectation?

MR. ANDRE:  For residential, yes.  Now, you remember I mentioned that 2019, right, for Orillia, they haven't rebased their revenue requirement since 2010.

So by 2030, they would have been catching up for twenty years' worth of rebasing and cost increases.

MR. SHEPHERD:  So similarly for GS over 50, which is the rate class that that most of my schools are in, in 2019 Orillia is significantly lower, 13.7 percent, right?  But by 2030, you say they're going to be 23 percent higher, right?

MR. ANDRE:  Sorry, Mr. Shepherd, I am not seeing the...

MR. SHEPHERD:  So GS over 50, Orillia, 14,430 today.

MR. ANDRE:  Right.

MR. SHEPHERD:  And you are 16,413.

MR. ANDRE:  Correct.

MR. SHEPHERD:  In 2030, 21,587 Orillia.  17,508 Hydro One.

MR. ANDRE:  Hmm-hmm.  Correct.

MR. SHEPHERD:  And that's what you anticipates happening?

MR. ANDRE:  Based on the what Orillia has identified as their revenue requirement that they would need in 2030, after twenty years of not rebasing.

MR. SHEPHERD:  Okay.  Now, interestingly enough, in the case of Peterborough, this appears to show that Hydro One, for both residential and GS over 50 and indeed for GS under 50, too, is higher today and will still be higher in 2030 on a no-consolidations basis, no deal basis.

Then that is a reasonable conclusion, right?  Your urban rates are higher than Peterborough's rates, and will continue to be higher.

MR. ANDRE:  That change from 2019 to 2030 is a function of the assumed revenue requirement to be collected in 2030, and the revenue requirement or -- yes, revenue that is currently being collected from customers in 2019, not having been rebased since the last time they were rebased.

MR. SHEPHERD:  And you're anticipating that, for example for the schools, you are still going to be, give or take, 30 percent higher than Peterborough by 2030?

MR. ANDRE:  For our urban general service demand class, which is not what we're proposing to do for the Peterborough customers.  We are not proposing to put them into our existing urban general service demand class.  We are proposing to create a class into which we will put them in order to accurately reflect our cost of serving them.

MR. SHEPHERD:  Understood.  These are your starting point assumptions.  These are your no deal assumptions, status quo.

MR. ANDRE:  Right.  But you were comparing Peterborough -- a Peterborough number to a Hydro One legacy class number, and that is not -- that's not what Hydro One is proposing to do.

MR. SHEPHERD:  You are proposing to put Orillia customers and Peterborough customers in the same class, right?

MR. ANDRE:  Well, I think we would look at, you know, how much of a difference there is between serving Orillia and Peterborough.  And if they were reasonably close, then we would put them into one urban acquired class, yes.

MR. SHEPHERD:  Well, sorry, what is your proposal before the Board right now?  Is it to put them in one class or multiple classes?

MR. ANDRE:  So right now, we've shown two separate applications.  We have shown that they would go into 
each -- each would go into their own urban acquired class.

In 2030, when we brought it before the Board, I think we would look as to whether it would make sense to keep them in their own separate rate zones if you will, or whether we would put them into the same urban acquired class.

That is something to be, you know, decided at the time that we file our 2030 application.  That is something to be reviewed by the Board panel at that time, in terms of what's appropriate for customers.

MR. SHEPHERD:  So right now and in your 2030 forecast, Peterborough schools pay a good deal less in distribution charges than Orillia schools, right?  And that is expected to continue?

MR. ANDRE:  Yes, I see that.

MR. SHEPHERD:  So would you agree that putting them in the same class disadvantages some and advantages others of those customers?

MR. ANDRE:  Based on those numbers, it would suggest that there might be enough of a difference between the general service demand class that we might need to keep them as separate rate zones.

But as I say, I think we would look at what those numbers looks like based on the cost allocation that we would run then, based on the actual load forecast and actual assets placed in-service.

We would do the runs then and if there was still a significant disparity like that, then we would consider keeping them in separate rate zones.

MR. SHEPHERD:  All right.  Madam Chair, I have just ended a section of my cross.  It may be a little early for you to break for lunch, but if you could give me some guidance as to when you would like to break, please let me know.

CHAIR SPOEL:  We can break now, if that is convenient for you.  It doesn't really matter.

MR. SHEPHERD:  I am in your hands.

CHAIR SPOEL:  Sure we can break now.  We will come back at 1:15.

MR. SHEPHERD:  Thank you.
--- Luncheon recess taken at 12:15 p.m.
--- On resuming at 1:16 p.m.

CHAIR SPOEL:  Good afternoon.  Please be seated.  Mr. Shepherd.

MR. SHEPHERD:  Thank you, Madam Chair.  I am still confused.  I want to cross-examine Mr. Millar, actually.

CHAIR SPOEL:  I know.

MR. SHEPHERD:  You too?

CHAIR SPOEL:  No, I don't want to cross-examine him, but probably good for us to reorient ourselves once in a while.

MR. SHEPHERD:  Can you go to page 7 of K1.3, please.  This is the stuff we were talking about before lunch.

Honestly, I forgot the punch line, so how much is your argument on the No Harm Test; that is, that you're going to produce a net benefit to customers?  How much of it is it dependent on these assumptions?  On the underlying costs that you are assuming that Hydro One and Orillia and Peterborough will have over time?

[Hydro One panel confers]

MR. ANDRE:  So I think what we have shown here, what we have shown in those first IRs that you went to that showed the revenue requirement, and there's similar IRs that show the rates that would be charged to PDI customers, OPDC customers, with and without consolidation, all of those are intended to demonstrate what we would forecast the rates to be, what we think the cost to be collected from and the rates to be charged to those customers will be in year 11.

Of course, that is going out a while, and we don't know what changes would happen between now and then.  So I would actually say that the real commitment to ensure that there's no harm to either OPDC or PDI customers relies on our commitment to ensure that what we charge them in year 11 based on whatever cost allocation model that is proposed then and based on the conditions that exist then, what we charge then will be between the goal posts.

That is where our real commitment is.  We are going to make sure that they impose a certain amount of additional revenue requirement on Hydro One, right, as a result of integrating them.  We want to make sure we at a minimum collect that additional revenue requirement that they impose on Hydro One in total, because by doing that we're collecting the revenue that they're driving.

On the other hand, we want to make sure that they don't pay more than they would have paid -- would have otherwise paid had they not been acquired.  So that is the high end of the goalpost.

So whatever cost allocation and rate design proposals come out in year 11 -- and we have provided what we think they're going to be, but whatever comes out, as long as what we propose to collect from customers in year 11 falls between, you know, at a minimum recovers the revenue requirement that they impose, at a maximum doesn't collect more than what they would have otherwise paid had they not been acquired, as long as it is in between there, that is the commitment to ensure there is no harm.

MR. SHEPHERD:  So the goalposts are incremental revenue requirement versus status quo?

MR. ANDRE:  Yes.  At least cover -- at least cover the revenue requirement that you are imposing on Hydro One, but let's not recover more from you than you would have paid if you had not been acquired.

MR. SHEPHERD:  And your ability to do that and indeed the status quo for PDI and OPDC is dependent on these forecasts being at least reasonable.  They may not be accurate, because they're forecasts, but if they're completely out of whack your argument falls apart, right?  Because you can't actually deliver.

MR. ANDRE:  We know -- you're right, we have a forecast of how much additional revenue requirement they will impose.  That's a forecast.

And we have a forecast of how much they would have paid otherwise.  I think that is, you know, something that the Board has spoken to when they speak about no harm, making sure that, you know, the comparison is to what they would have otherwise paid.

That comparison to what they otherwise would have paid will always be a forecast, but I think there is other elements to the savings, and Ms. Richardson will speak to that.

MS. RICHARDSON:  Yes.  So I just want to correct earlier.  It's not -- the test for the OEB is not net benefit, it is no harm.  So I just wanted to clarify that.

And basically we're saying that our cost structures will be lower and we have significant savings.  We have -- we have reduced the OM&A of both Orillia and Peterborough between 65 and 70 percent.  So even on the cost allocation there are savings.  Even if those savings do not materialize to that level, they will still be higher than they would have been.

We have also been very clear that --


MR. SHEPHERD:  Sorry, can I just ask about that?  So you said you have reduced their OM&A.  You haven't done anything yet, right?

MS. RICHARDSON:  No.  We have not done anything at this point of time, correct.

MR. SHEPHERD:  You said you are going to.

MS. RICHARDSON:  Okay.  Sorry, in our application, in Exhibit A2.1, table 1, our forecast is that Hydro One upon acquisition of the two utilities would reduce their OM&A costs between 65 and 70 percent.

MR. SHEPHERD:  Well, okay.  It's not going to actually reduce their OM&A costs, it's going to reduce their incremental OM&A costs, because you're still going to have to -- they're still going to be reliant on finance and HR and all of those things from Hydro One, those costs are still going to get paid, they're just not incremental.

MS. RICHARDSON:  Well, what we said is that the overall OM&A, that the consolidated entities will be reduced by those amounts of monies, then it is a matter of allocation of costs.  The idea is to get synergy savings in the industry, as well as directly with Peterborough and Orillia, so there will be savings that, if you look at the combined revenue requirements of Hydro One and Orillia and Peterborough, will be in the range of 12.5 million lower per year on OM&A as a result of these transactions.

Mr. Andre has also shown what we're proposing in our rates application that the rates for all the customers, all customer classes of Orillia, Peterborough, and Hydro One legacy will be lower as a result of this application if they are both approved.

MR. SHEPHERD:  Well, and we saw that in your -- in SEC 44 and Staff 12, right, that you can actually calculate how much benefit goes to everybody, right?

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  All right.  I want to turn to your rate proposal for rebasing and beyond.  And indulge me for a second, Mr. Andre.  I know this is going to be Rates 101, but it's going to matter later when we talk about the various ways to do this.

There's three steps to setting rates.  There is classification, what class do you put somebody in.  There is cost allocation; that is, what costs do you allocate to a class.  And sometimes cost allocation and classification are interactive.  And then third is rate design, things like fixed/variable split and revenue-to-cost ratio.  But those are the three classic components of rate-making, correct?

MR. ANDRE:  So classification usually refers to what drives -- what drives that cost.  Is it driven by demand?  In cost allocation, is it driven by demand --


MR. SHEPHERD:  Sorry, sorry, I have misused the term then.  What I mean is you have to assign somebody to a class, and you do that based -- which is actually -- in natural gas it is called classification, but maybe it's not in electricity.  And you do that based on homogeneity.  Right?  You try to get the maximum homogeneity within a class.

MR. ANDRE:  I think there is a number of reasons for creating classes.  That would be one of them.

To the extent you can create a homogenous class, that's great.  I mean, our rural class, for example, we know that it is rural, but it has quite a disparity between rural customers in northern Ontario and rural customers in southern Ontario.  They're quite different, but we still lump them together into our rural R2 class, for example.

But, yes, to the extent you can, creating homogeneity is a good thing.

MR. SHEPHERD:  And the other is in fact administrative efficiency, right?  The more classes you have, the more difficult it is to run your utility.

MR. ANDRE:  Yes.  I mean, keeping them at a manageable number is something that we in fact 2013 are -- sorry, 2006 we did.  We had a large number of classes and we reduced our number of classes based on that argument, so, yes --


MR. SHEPHERD:  You had 112 classes or something like that?

MR. ANDRE:  Because it included the acquireds at the time.

MR. SHEPHERD:  Or maybe 300.

MR. ANDRE:  Yes --


MR. SHEPHERD:  All right.  And so your principle for assigning people to classes is homogeneity and administrative simplicity.

And then your principle for cost allocation is cost causality, right?  You are trying to allocate costs based on cost causality, yes?

MR. ANDRE:  Correct.  And one of the -- a key element of cost causality is to the extent there are classes for which you know, or groups of customers for which you know the direct cost to serve, the actual costs to serve, direct allocation is to the extent -- to the extent that was available for everybody, that would be the ultimate in costs, in cost causality, is if you knew the actual number of assets being used to serve a particular group of customers.

Usually you don't, so then you use cost causality, like what drives -- is it demand?  Is it the class demand? Is it the number of customers that drives that cost?  So you have to start relying on other principles.

But to the extent you can directly allocate costs, that is a good thing.

MR. SHEPHERD:  And to get that exactly perfect, you would have 1.1 million classes?

MR. ANDRE:  Correct.

MR. SHEPHERD:  So you're always trading off here, right?

MR. ANDRE:  Hmm-hmm.

MR. SHEPHERD:  Okay.  And then finally, rate design does a couple of things.  One is, in revenue to cost ratio, it reflects the fact that your cost allocation is not perfect, right?

MR. ANDRE:  I'm not sure that I understand what you mean by rate design.  The rate design process takes whatever costs come out of the cost allocation model as being defined, or appropriately reflecting the costs to serve a particular class, and then develops rates based on that.

MR. SHEPHERD:  No, I understand that.  But there's two components to it; one is fixed variable split.  There could be a hundred components, but in Ontario there's two components, fixed variable split and revenue to cost ratios, right?

MR. ANDRE:  Revenue to cost ratio comes out -- the revenue to cost ratios actually come out of the cost allocation model.

Sheet 01, the bottom of the sheet shows based on the rates you are charging now and the revenue requirement that you require, here is the revenue to cost ratios that exist. As part of the rate design process, if some of those revenue to cost ratios fall outside of the range that the Board considers to appropriately reflect the costs to serve a class, then you have to make adjustments to those revenue to cost ratios.

And you are right.  Those adjustments are made at the rate design stage.  But the actual cost allocation process itself results in a revenue to cost ratio.

MR. SHEPHERD:  All right.  So I want to briefly go through the history of your various approaches to rates for acquired customers, because it has evolved over time, right?

MR. ANDRE:  I'm not sure what you mean by evolved.  We did some integration of acquireds back in the early 2000s, and we had a proposal to integrate Norfolk, Haldimand, and Woodstock.  Those are the only acquired integration I am familiar with.

MR. SHEPHERD:  I am going to walk you through the changes, and you can tell me whether I've got this right.

So can you turn to page 19 of our materials?  You have seen this horror story before, lots of times.  19 through 23 are the 89 -- you were right, by the way, in the technical conference -- 89 small LDCs that were acquired by Hydro One in around 2000, right, 1999-2000?

MR. ANDRE:  Yes, I believe that's correct.

MR. SHEPHERD:  Then they were harmonized into rates in 2006.

MR. ANDRE:  Correct.

MR. SHEPHERD:  Okay.  And these -- and what we have here -- this was prepared several years ago -- is the rates before harmonization, their actual rates in 2013, and their 2019 rates based on Hydro One's application at the time, which was, I think, for 2014, or 2013 to 2019 rates, or something like that.  Do you recall that?

MR. ANDRE:  I'm seeing the numbers in front of me.  You said this was produced some time ago.  It includes 2019 rates, so I assume it was produced relatively recently.

I don't think I have seen all of the acquired utilities in a consolidated sheet like this.  But, yes, I do appreciate that subject to check, because I didn't check the individual numbers, that what you are showing is the rates they were paying in 2005, the rates they paid in 2013.  And then the 2019, I assume you got those from our most recent filing.

MR. SHEPHERD:  They're actually from your proposal in 2015.

MR. ANDRE:  Oh, okay.

MR. SHEPHERD:  But close enough.  So I want to ask you about this, because what you did here is -- and that's why I asked you about the rates 101 question -- is you solved the problem of what to do with them by assigning them to existing rate classes, right?

MR. ANDRE:  That's the proposal that was made in 2005, and then the Board panel had an issue.  We came back in 2006 with a slightly modified proposal.

But this reflects what the Board approved and the proposal that was reviewed and approved by intervenors in that rate case and what ultimately was approved to be done with the 89 acquired utilities.

MR. SHEPHERD:  It was approved by intervenors?  Was this a settlement case?

MR. ANDRE:  No.  It was reviewed by intervenors and approved by the Board in that case for what should be done.  And this integration, by the way, as you know happened over about four careers.  Like we didn't make this change in one year.  It was mitigated -- impacts were mitigated by doing it over four years, as per what was approved by the Board.

MR. SHEPHERD:  And the reason was because some of the impacts were pretty high, right?  So you had a cap of 10 percent of total pill of each year, right?

MR. ANDRE:  Yes.  That was the proposal that was made at that time, yes.

MR. SHEPHERD:  All right.  And so in some cases, it took five years to get them through, right?

MR. ANDRE:  I think there may have been one or two utilities, Ailsa Craig or Arkona.  I think there were a couple of that took five years to migrate to the legacy rates, yes.

MR. SHEPHERD:  Now, in doing these rates, in setting rates for these 89 acquired utilities, once you put them into new classes, you didn't need to play with cost allocation, you didn't need to play with revenue to cost ratios, or fixed variable split, or anything like that, because they were in existing classes, right?

MR. ANDRE:  I don't like how you characterize play with those things.

MR. SHEPHERD:  I meant it very respectfully.

MR. ANDRE:  We used a cost allocation model that existed at the time.  That model has changed over the years, by the way, from 2005.  Like it didn't have density factors at the time, some of the treatment of streetlights was different.  So there have been changes to the cost allocation model over time.

But, yes, this was the proposal at the time, moving them to existing rate classes. I agree that what you see is significant impacts to some classes, which is exactly -- well, not exactly why, but certainly it is one of the things that doesn't happen as a result of Hydro One's proposal with the acquisition of OPDC and PDI.

We're not proposing to move them into existing rate classes, which avoids the kind of impacts that you are seeing here.

MR. SHEPHERD:  So can you go to page 23?  And on page 23, this is the UGd class.  This is customers assigned to the UGd class at the bottom.

You see the town of Brockville.  You acquired the Brockville utility, and then you assigned those customers to the UGd class, right?

MR. ANDRE:  The general service demand customers would have been assigned to the UGd class, yes.

MR. SHEPHERD:  Yes.  And this is the reason I got involved in this in the first place, because the Brockville school board, which most of their schools are in there, right, called me up, very angry, and called me on the carpet in Brockville at a trustee meeting to say what's going on here?  Our rates are going up this much, 487 percent?

Didn't you -- when you proposed this, didn't you know that these impacts were going to happen?

MR. ANDRE:  When we proposed --

MR. SHEPHERD:  This solution to those 89 LDCs.

MR. KEIZER:  Madam Chair, I am not quite sure of the relevance of what happened in the 89 LDCs and what was known or not known has to do with this application, which is related to Peterborough and Orillia, and the forecasts that are at play here, in terms of evidence.

MR. SHEPHERD:  Madam Chair, Hydro One didn't tell the Board in 2006 that there would be massive rate increases for all of these initial 89 victims, sorry.

MR. KEIZER:  I don't think it is fair to characterize it that way, what was known or not known in that 2006.

MR. SHEPHERD:  Well, my next question, if you hadn't stopped me, was going to be to ask the witnesses to please show me in 2006 where you told the Board that people were going to have four, five, and six hundred percent rate increases.

MR. KEIZER:  And my position is that still remains irrelevant to these proceedings.

MR. SHEPHERD:  Well, what are they saying to the Board in this proceeding?

MR. KEIZER:  Well, I think you are fair to ask that question with respect to Peterborough and Orillia.  That's what we're here to deal with. 

MR. SHEPHERD:  So the fact that the last 89 got hurt -- and we're going to come to Norfolk, Haldimand, and Woodstock, where a similar pattern arose -- that's not relevant, you think?  Similar fact evidence is not relevant?

CHAIR SPOEL:  Mr. Shepherd, I think that it is reasonable -- it's reasonable for you to put this -- the evidence of the historical facts of what the historical impacts have been.

I don't think it is -- and the record of what was and was not said to the Board at the time is on the public record, and you can refer to that if you wish.  I don't think it is up to the -- I don't think it is fair to these witnesses to re-hash that particular ground --


MR. SHEPHERD:  My intention is not to rehash what happened.

CHAIR SPOEL:  And I don't think we're -- this isn't a criminal trial.  Similar fact evidence isn't a concept that we deal with generally at this Board.

I think -- I think if you want to show there's -- you can use these numbers to show what actually happened.  I don't think what they did or didn't tell the Board at the time is relevant in this case, but you are free to use this information to show what did happen.  You can go back if you want in your argument, in your submissions -- if you want to go back and pull up what was or wasn't said to the Board at the time that these rates were approved, you are free to do that as well.  But I don't think you can -- I don't think it is fair to cross-examine these witnesses now on what they probably -- well, they may or may not have been part of that proceeding.  But I don't think it is fair to cross-examine them now on what was or wasn't said by Hydro One to the Board at the time.

MR. SHEPHERD:  How do I ask them the question, Madam Chair, what's different today, if I don't --


CHAIR SPOEL:  Well, you can ask them that very question.  What is different today about what your proposal is?

MR. SHEPHERD:  Well, no, that is not my question, though.  My question is, what's different today about what you are telling the Board?  And I can't do that unless I talk about what they told the Board the last time and the time before that and the time before that, because in each case they told the Board one thing and then they did something else.

CHAIR SPOEL:  Well, I think you can use the numbers -- if you want to make that argument, you can use -- I think the numbers -- you can use the numbers -- it's it not what they told -- not what they held out to the Board.  It is what they applied for and what they received and what the numbers show happened.  I think you can rely on that.

MR. SHEPHERD:  Madam Chair, in the 0049 decision the Board made a point of saying to Hydro One, you told us you weren't going to harm these customers, and now you are coming in with a rate proposal that harms them.  That is not okay.

That is what the Board said in 0049, and for you to say now that I can't raise the same problem --


CHAIR SPOEL:  You are talking about 2006.  Not 0049.

MR. SHEPHERD:  And why is that different?

CHAIR SPOEL:  You are going back.  You are asking them what was said to the Board -- I mean, I think there is a limit, Mr. Shepherd.

MR. SHEPHERD:  Oh, okay.  In this list of acquired utilities, there are many towns and cities similar to Orillia and Peterborough in this list, right?

MR. ANDRE:  There are some urban communities in this list, yes.

MR. SHEPHERD:  So Brockville; Lindsay, right down the road from Peterborough; Smiths Falls; Thorold.  Right?  These are similar, right?

MR. ANDRE:  They are urban areas, yeah.  I can't comment.  I don't know enough about the makeup of Smiths Falls and Lindsay to say whether they're similar or not.  They're urban areas, yes.

MR. SHEPHERD:  Okay.  And you have many legacy towns and cities that are also similar to Orillia and Peterborough:  Ancaster, Kingston, Essex, Newmarket, all over the province, right?

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  So I want to take you to -- let me just find the reference.  I have a list here.  Here we go.

You had a -- can you go to page 62 of our materials.

And you had a study done in, what, about, I'm going to say maybe 2008, on the relative costs to serve higher density and lower density areas, right?

MR. ANDRE:  2013, but, yes, we had a study done.

MR. SHEPHERD:  Oh, is this the 2013 study?

MR. ANDRE:  I believe so, yes.

MR. SHEPHERD:  Okay.  So there is a list in figure 59 on this page -- this is from that study -- of towns that are in your high density areas.  Right?

MR. ANDRE:  Yes.  What you're seeing on page 62 is the -- are the sample areas that were created.  So those names are actually -- are operating area names, but they are areas of high density within those operating areas that were used to compare what a high density sample area cost to serve looks like versus a medium density sample area versus a low density.

So this is the high density sample areas that were created in that study.  There would be a similar table for medium density and low density.

MR. SHEPHERD:  There was a previous page -- a couple of page previous pages that had lists of other communities that had been sampled for the same purpose, right, that were medium density and low density.

MR. ANDRE:  Correct.  Something I would note, though, and they point this out in the report, so these sample areas, one of the things they were trying to achieve at the time was to create similar size sample areas, which they believed was important, to compare, medium, low density -- low density, medium density, and high density.  So in creating similar size sample areas one of the things they highlighted in the report is they would capture the high density area but then go beyond the borders of what would be high density in order to achieve a similar size.

And so you were getting sort of boundaries of low -- medium to low density around some of these high density sample areas.

MR. SHEPHERD:  Which is actually what your eventual proposal was, right, that you use municipal boundaries even if some of it was lower density?

MR. ANDRE:  No, Mr. Shepherd.  Our urban areas aren't tied to municipal boundaries.  They're tied to using the GIS to define a type boundary around the area -- cluster of customers, defining urban areas.

MR. SHEPHERD:  Now, these are not -- this list that we see here on page 62, these are not acquired, right?  I guess Perth was.  But -- and Owen Sound was.  But most of them were not, right?

MR. ANDRE:  This was done in 2013.  So we would have gone across the province and for the purposes of the study looked at where can we -- where do we see clusters of high density, you know, greater than the number of customers that we would consider to be high density.

So this would be a mix of old legacy and new acquired, you know, new acquired utilities.  It would be a mix.  It was sample areas that within Hydro One's service territory could be considered to have a high density.

MR. SHEPHERD:  So if you go to page 20 of our materials, this shows that the average increase in medium density acquired residential -- that's your R1 acquireds --was 236 percent.  That is over 19 years.  No, sorry, over 15 years.

And your urban acquired on the next page was 96 percent, whereas your own legacy customers were much lower than that over the same period.  Right?

These numbers are correct, are they not?  Or close enough?

MR. ANDRE:  Which ones?  The '13 to '19?

MR. SHEPHERD:  Yeah, no, the 2005 to '19.

MR. ANDRE:  Right.  The 2005?  I believe those numbers are correct.  I mean, the -- to Madam Chair's point, the 2005 rates, there would have been -- you know, there's a number of considerations that were in those rates.

Like, there's been no discussion about what shape the assets were in at the time they were acquired.  When was the last time they were rebased?  We don't know that.  These 2005 rates, we don't have information on the last time they were rebased.

So I don't know if these rates even included -- because in 2002 when the market was broken up utilities started to earn a return on equity.  So there's all kinds of things that we don't know or at least I don't know about what is built into the 2005 rates.  So any comparison that goes back to 2005 I can't really speak to.

MR. SHEPHERD:  Okay.  So we asked you in the 0049 case at page 24 of our materials -- this is from the transcript, volume 10 of the 0049 case.  We provided this to you the other day.

We asked you have you done -- I think this is the one.  No, it isn't.  Hang on, sorry.  I should be on page 16.  My apologies.

CHAIR SPOEL:  Which?  16, one, six?

MR. SHEPHERD:  Yes, and this is actually from the technical conference in this proceeding.

And so we asked you have you done a study or an analysis of whether those customers in those 89 communities have benefited from being acquired by Hydro One.  Are their rates lower?  Do they have better service, anything like that?

Have you done any studies on whether in fact they were harmed, or not?

Your answer was, no, because it's not relevant, I think.  Isn't that right?

MS. RICHARDSON:  It wasn't that they weren't relevant, but past acquisitions we said were not relevant.  Not the fact that the customers may or may not have been harmed.  You are changing the words around here.

But the costs had not been tracked for any of those.  We did not see a need to do for that.  None of our approvals required us to do that at the time.

So it just was not completed, not done.

MR. SHEPHERD:  Now, Mr. Keizer says on page 178 of our materials, he says, whether or not you did it, did any such study is irrelevant.

Are you saying you didn't in fact do any such studies?

MR. KEIZER:  First of all, I think she did answer the question about whether they did the study or not.

The irrelevance point goes to the fact that these were past acquisitions that aren't related to the current acquisitions that are before the Board.

And so in terms of an analysis and review and assessment of each one of these transactions, I submit it isn't relevant to the consideration of what the current facts are as to what the reasonable forecasts of capital or OM&A are, and what the residual or the status quo forecasts are relating to no harm.

CHAIR SPOEL:  Maybe we can break this down into two things.  Ms. Richardson, I think you did answer the question, just answer the question that you did not in fact do such a study, which is what Mr. Shepherd just asked you.  Is that correct?  Did I hear that correctly?

MS. RICHARDSON:  That is correct.

CHAIR SPOEL:  Mr. Keizer, I think the ability to forecast accurately what the outcome might be might well be relevant.  What was said or not said to the Board, what kind of undertaking Hydro One may or may not have given, and whether these witnesses can really attest to that is a different issue.

But I don't think we're going to find -- at this point, I am not sure that we're going to say it is Hydro One's ability to accurately forecast what's going to happen, but past experience might be of interest in their ability to do that in a reasonable way.  So I wouldn't...

MR. SHEPHERD:  Here's where I am going, Madam Chair.  Hydro One has an acquisition strategy, right?  You have been acquiring utilities?

MS. RICHARDSON:  We have been acquiring utilities in the past. Right now, our whole corporate strategy is under review.

MR. SHEPHERD:  True, it's true.  And I guess what I would like you to explain, or somebody to explain is if part of your strategy is to acquire other LDCs, I certainly, if I were in management, would want to know what's the impact, what happens if I do that?  And I have a whole lot of history that I can look at.

So my question is why didn't you do any such analysis?

MS. RICHARDSON:  So as I said, twenty years ago we didn't think of it, it wasn't required, it wasn't done.

We have done that for our recent acquisitions in Norfolk, Woodstock and Haldimand.  So we do have information on that.  We've tracked their costs and that was part of our approval conditions that have been done.

But we did not have anything for those previous acquisitions.

MR. SHEPHERD:  All right.

MR. ANDRE:  I would add what we're proposing to do in this application is different than what was done in 2000, and the proposals that we have here do result -- if you look at year 11 with and without consolidation, do result in lower rates for customers, which is not the outcome that you got at that point because you weren't -- you know, the effort wasn't made or the ability wasn't made to directly allocate the costs to serve.

We now are able to directly identify the costs to serve these acquired utilities.  We are going to charge them costs that reflect those costs to serve, and the impacts that you see is what results, benefits to both legacy and acquired customers.

MR. SHEPHERD:  All right.  I would like to turn to Haldimand, Norfolk, and Woodstock, if I could, because you changed your approach, right, to rebasing rates in those transactions?

MS. RICHARDSON:  Sorry, changed our approach from back in 1990, or from --


MR. SHEPHERD:  From the first 89.

MS. RICHARDSON:  Yes.

MR. ANDRE:  Yes.  So for both Norfolk, Haldimand and Woodstock, we were using a similar approach in trying to reflect the actual costs to serve those utilities as opposed to moving them into legacy rate classes.

MR. SHEPHERD:  Sorry.  There is two steps here.
There's the first step, which is you made MAADs applications.  Then the second step is in the 0049 case, where you actually made a rate proposal.

And those were -- things evolve in the meantime, right?

MR. ANDRE:  Yeah.  I wasn't sure.  I thought you were referring -- in your question, I thought you were referring to that second part in terms of --


MR. SHEPHERD:  No, no.  Let's start with the first part.  When you acquired Norfolk, Haldimand, and Woodstock -- and this is in 2013, 2014 and 2015, is that right?

MS. RICHARDSON:  I think the actual applications closed in 2015 and 2016, but yes.

MR. SHEPHERD:  Okay.  Your original thought was that you would do the same thing as you did with the first 89.  You would put them into an existing classes, right?

MS. RICHARDSON:  No.

[Laughter]

MS. RICHARDSON:  In harmony, no.

MR. SHEPHERD:  I guess I am probably wrong.

MS. RICHARDSON:  No.  Our application...our application at the time for all three of those applications said one, that we would put them into new rate classes.

We would consider putting them in our existing rate classes, or some other option was what we wrote.

MR. SHEPHERD:  So if I recall -- and as you may recall, we had -- they were very active cases.  As I recall, your position was we don't actually know yet what we're going to do in five years.

What we can tell you, Board, is that we will make sure they won't be harmed.  And there's going to be savings, so we can do that.  Is that a fair assessment?

We have options, but we don't know which we're going to implement yet.

MS. RICHARDSON:  Those three applications, our understanding of the Board's policy at the time was that we had to show reductions in cost structures as a result of the application. And in those applications, we did that for all three.

What has come out since and made more clear to us during some strenuous hearings is that it is also about the rates that those customers will receive beyond the rebasing period.

So in those three applications, we actually said that, wait until we file our rate rebasing application and we will see what the rates will be.  That is now part of this application.

MR. SHEPHERD:  All right.  So that allows us then to fast-forward to EB-2017-0049, which was your distribution rate case, right?

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  And in that case, for the customers in those three utilities, you proposed six rate classes, three for Woodstock and three for Haldimand and Norfolk, right?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  And the difference between the rate classes was basically based on density, right?  Woodstock was considered to be more dense, and therefore they had a different allocation approach than Norfolk and Haldimand?

MR. ANDRE:  I wouldn't say a different allocation approach.  We created two sets of classes, because we noted that, yes, the costs to serve those two classes was going to be noticeably different.  So we decided to create two different sets of classes.

MR. SHEPHERD:  And this was your first proposal to the Board, where you proposed to the Board we're going to reduce the allocation of local asset to the acquired customers, similar to what we would do in direct allocation.  It is not exactly the same, but it is similar, right?

MR. ANDRE:  Yes.  We're going to ensure that what comes out of the model accurately reflects the amount of assets being used to serve them.

So what you would get from a direct allocation proposal, yes.

MR. SHEPHERD:  And you did that in two steps.  The first step was US of A's 1830 to 60, which is poles wires and a bunch of other stuff.  And then later in the proceeding, you added distribution statements 1815 and 1820, right?

MR. ANDRE:  That's correct.  When we looked at -- when we started looking at, you know, preparing for the interrogatory phase, preparing for the hearing phase, I think we also gained an appreciation how important it was to compare what rates you're proposing to charge versus what they would have paid otherwise.

Our original application didn't show that comparison to what you would have paid otherwise.  So we knew that we might need to update our evidence, and so in looking at, okay, we're going to make this comparison to what they would have paid otherwise, we looked more closely at the allocation of costs and we realized that distribution stations essentially serve a local area.  Like, the distribution stations within PDI are serving PDI customers.

And so just like the poles in PDI are serving PDI customers, the wires within the PDI service territory are serving their customers, the transformers, the stations effectively do the same thing.  So, yes, and one of the things we corrected was the allocation should appropriately reflect the stations actually being used to serve in that case Norfolk, Haldimand, and Woodstock areas.

MR. SHEPHERD:  So the other thing you proposed in that case, correct me if I'm wrong, is that they would have relatively low revenue-to-cost ratios for the acquired, because -- not because you set them artificially, but because the CAM, the Cost Allocation Model, would produce relatively low RTCs because their status quo rates were relatively low.  True?

MR. ANDRE:  The model produced -- a cost allocation model produced those lower revenue-to-cost ratios and our proposal was that those revenue-to-cost ratios would have to be increased to come within the Board's approved range, to ensure that the rates that we eventually charge those customers would accurately reflect the costs to serve them.

MR. SHEPHERD:  But the end result was still in the, what is it, 83 percent I think was the average revenue-to-cost ratio for the acquired customers?  It was something low.  Right?

MR. ANDRE:  So in the first -- in our pre-filed evidence where we weren't allocating stations, the revenue-to-cost ratios were coming in low and we were actually phasing it in over two years to get to the Board-approved range.

When we made the adjustment to the stations, being local assets used by the local utilities, what happened was the revenue-to-cost ratio, it was still below the range, but it was enough that our proposal said we're going to move them to within the range in this first year.

So right away we're going to -- the revenue-to-cost ratios that came out of the cost allocation model were below the range, and our proposal was they moved to within the range to make sure customers are paying a cost that reflects their cost to serve.

MR. SHEPHERD:  So these classes were at 80 or in one case 85 -- or two cases, I guess, 85 percent, right?

MR. ANDRE:  Yes.  So residential -- all residential classes, both the urban acquired and the regular acquired, the residential classes would have been moved to 85 percent. And then the general service classes would have been moved to 80 percent to be within the range.

MR. SHEPHERD:  All right.  And so I wonder if you could -- I had all of this stuff confirming this, but I guess I don't need it any more.

I wonder if you could...

CHAIR SPOEL:  Mr. Shepherd, while you're thinking about it, can I just ask a general question on that?  So when you made the change -- I wasn't involved in that Hydro One hearing.  When you made the change and included the stations, was that taking them out -- were you then specifically allocating stations overall in your system to the small, I am going to call them small areas because the service area is so large, the small areas that each station served, as opposed to putting all stations in one kind of category and sort of evenly spreading them around?

MR. ANDRE:  Yes.  So --


CHAIR SPOEL:  Was that the change?

MR. ANDRE:  That was the change.  So in the first approach, when we weren't identifying, when we weren't saying, yes, these are the stations that we specifically know are required to serve the small area, to use your words, in the first approach we're taking all of Hydro One's stations and saying, this small area, you're going to get the average station costs of all of Hydro One.

CHAIR SPOEL:  So when you specifically allocated the amount allocated actually went to those specific areas of Haldimand and Woodstock and --


MR. ANDRE:  And Norfolk.

CHAIR SPOEL:  -- Norfolk, those numbers -- their allocation went down?

MR. ANDRE:  Yes.

CHAIR SPOEL:  Because they weren't using as much of a share of the -- they weren't use the same share they would have used if they had been given, you know, .01 percent of the whole --


MR. ANDRE:  Correct.  And if I could, because I think this is very helpful --


CHAIR SPOEL:  I just want to make sure --


MR. ANDRE:  No, you are absolutely correct.  In fact, Mr. Shepherd has -- was going to ask around that.  So if we could go to page 30 of Mr. Shepherd's compendium, because it illustrates, with numbers, what you were talking about, Madam Spoel.

If you go to the very last two columns, so the allocated by CAM, so before we made that adjustment to say how many stations are actually being used by this small area, the cost allocation model was allocating 7.8 plus 40.6.  So that's about --


CHAIR:  49.

MR. ANDRE:  -- 49 -- $48.4 million.  It was saying $48.4 million of the stations that are currently being used to serve all of Hydro One, we're going to take 48 million and say that's being used to serve Norfolk, Haldimand, and Woodstock.

After we made the adjustment, when you look at the actual station costs that are in the financial records of Norfolk, Haldimand, and Woodstock, they were actually only spending 9.2 plus 8.2, so about 17.4 million.

So their station costs required to serve them with 17.4.  Before we made this adjustment we were taking an extra 31 million, so the difference between 48 and 17 is 31 million.  We were saying the addition of these three areas, there's now about 31 million in stations that are being used by legacy customers that we're going to arbitrarily say, oh, no, wait that 31 million is now being used to serve these three local areas.  And we recognize that wasn't appropriate, so we made that adjustment.

MR. SHEPHERD:  Well, actually, Mr. Andre, it wasn't arbitrary, was it?  It was what the CAM -- what the cost allocation model did.

MR. ANDRE:  Yes.  And I think it is a great example of what -- when I say the Cost Allocation Model attempts to allocate costs across rate classes, what you were saying, you create the rate classes, and then the model allocates costs across the rate classes, and one of the things that it uses is peak demand of the class.

So what this was saying -- so you have to think before and after integrating these three acquireds, what changed?  You had three additional small areas that you are serving.

The cost allocation principles would say based on the peak demands of those classes we're now going to say there is $31 million extra in station costs associated with serving those three small areas.

Well, the legacy service territory didn't change.  they all of a sudden weren't using $31 million less in stations. The cost allocation model was allocating based on peak demands an additional 31 million, but it's not reflective of the actual costs required to serve those three small areas.

MR. SHEPHERD:  And by making that change in December of 2017, adding distribution stations, that 31 million reduced the costs allocated to the acquireds by $5 million.  Right?

MR. ANDRE:  The costs, yes.  So these are -- it reduced the assets allocated by 17 million.  Then that would have flowed through -- assets are used to drive OM&A costs and all of those other costs.

MR. SHEPHERD:  Sorry, reduce the assets by 31 million?

MR. ANDRE:  Sorry.  Right.  It brought it to 17 million.  It made sure that the model was only allocating 17 million.  Correct.  And then that 17 million in assets then drives OM&A costs, et cetera.  You probably have a reference for the 4 million.  I could look that up, in terms of how many actual costs that were reduced as a result of this change.

MR. SHEPHERD:  It was 5 million.  It went from 46.2 million down to 41.2 million.  We talked about it numerous times in that case.

MR. ANDRE:  Correct.  Okay.  Yes.  I --


MR. SHEPHERD:  All right.  So, but distribution stations wasn't the only thing.  That was your additional amount.  But you had actually, in your original proposal, taken all the local wires and transformers and all of that stuff, everything from 1830 to 1860 -- or 1860, I think, US of A, and reallocated those too, based on the actual assets being used, right?

MR. ANDRE:  Yes.  Our original pre-filed evidence already did for stations what should be done for poles, transformers, and wires.

So we made sure that the poles, transformers, and wires that got allocated to these three acquired areas actually reflected the amount of poles, wires, and transformers used in those three areas.

MR. SHEPHERD:  And will you accept subject to check -- I didn't include it in my materials because they're already 73 pages long -- that -- will you accept subject to check that you allocated $260 million of assets less because of this approach?  It went from 530 million down to 270.

MR. ANDRE:  Well, you can see from this example with the stations that in the stations, which is a relatively small component, it was over allocating by 31 million.

So, yes, I will accept that the amount of assets that would get allocated to these three small areas using things like class peak demand and -- well, essentially class peak demand was way over-allocating.

It was saying there is $500 million in assets that, prior to you bringing in these three areas, were being used by legacy customers.  And now that you brought in these three areas, somehow magically those $500 million in assets are now being used within these three areas, and that is not an appropriate result of the cost allocation model.

MR. SHEPHERD:  What you concluded in fact is the appropriate result was that only 260 million of those assets were being used to serve the new acquireds.

MR. ANDRE:  And that appropriate result is -- we know from the financial statements of Norfolk, Haldimand and Woodstock, that is the actual amount of assets being used by those three areas.

So it is not a result; it's the data.

MR. SHEPHERD:  Now, we never did find out in 0049 what the total impact was on the allocated costs of going -- of the full adjustment factors, right?

We found out about the distribution stations, because it was a change during the proceeding.  So we saw the number before and after, 46 million to 41 million.

But we never knew -- and you wouldn't tell us, if I recall -- what the costs would have been allocated to those acquired customers if you hadn't done any adjustments, right?

MR. ANDRE:  No, that's not correct.

MR. SHEPHERD:  Okay.

MR. ANDRE:  The amount of actual assets that were being allocated per the model and then the adjustment that we made, both of those numbers, the total dollars that the model would allocate and the total dollars that should be allocated based on knowing how much they serve, plus it's not just what they serve.  So for these three small areas, we included the actual assets within those three areas, but also the upstream.  So if there were upstream assets, we also included those in the three.

And all of that information was in the adjustment factor worksheet.  I think it is tab 5 -- don't quote me.  But it is in the adjustment factor worksheet which was submitted in evidence.

MR. SHEPHERD:  I agree with you.  What we never got is what the impact was on costs for revenue purposes, right, the revenue requirement component for those customers.  That's not in the evidence anywhere, is it?

MR. ANDRE:  No, because the -- you know, as I have said, it would have been -- understanding how much costs would be allocated by artificially allocating all of these assets currently being used by legacy customers to those three acquired areas was not appropriate.

And it was never asked for.  I mean, if we didn't include it, it's because it was never asked for.  We certainly could have, you know -- I would imagine we could have done that, but I don't think we were asked for it.

MR. SHEPHERD:  Okay.  So you made this proposal and this proposal had three components.  We're going to put them into new classes, so that is number one of rate design -- ratemaking 101.

We're going to make adjustments to the costs that are allocated to those classes to more correctly -- in our view, more correctly reflect the costs to serve those customers.

And then the third component, we're going to leave their revenue to cost ratios relatively low, the result is they're going to be okay.  Yes?

MR. ANDRE:  Some of what you say is true, Mr. Shepherd, but not all of it.

So first off --


MR. SHEPHERD:  Put it in your own words.

MR. ANDRE:  The creation of the rate classes, OEB's consolidation handbook actually specifies on page 18 that at the time of rate harmonization, a utility has the option to either put acquired customers into one of their existing legacy classes, or into a new rate class.

So putting into rate classes is something that was contemplated by the Board for acquired utilities.

MR. SHEPHERD:  Let me just stop you right there.  It's not just a discretion that if you feel like new rate classes or not you can do it, right?  You are supposed to do it in a principled way, right?

MR. ANDRE:  Right, absolutely.  So the principled way here, what drove us to create the new rate classes is the fact that if you didn't do that, you would get this over allocation based on coincident peak and non-coincident peak, all of allocators that exist underlying the cost allocation model. So we did that.

Your second point was okay.  But the third point about revenue to cost ratios, when it comes to revenue to cost ratios, no, we let the cost allocation model work out what the existing revenue to cost ratios would be based on the rates they were paying at that point in time, and to the extent that that was not recovering the costs that fall within the Board-approved range, you know, that that Board-approved range, as I have said before in this hearing, in our view defines or recognizes that cost allocation is not an exact science.  And therefore, if you get it within the range, you're accurately or appropriately reflecting the cost to serve those assets.

So what we did for Norfolk, Haldimand, and Woodstock was to the extent the revenue to cost ratio falls below the acceptable range to the Board, we made sure that we moved them to within the range.  And we did that, you know, right away at the time that we set the rates, because it resulted in impacts that, you know -- I think one or two percent bill impacts.

So it didn't result in significant impacts.  Otherwise, we would have phased that in.  But we were able to actually move them to within the Board-approved range, so that they're accurately and appropriately paying their costs to serve.

MR. SHEPHERD:  The reason they were below the range is because their rates had been artificially reduced by your acquisition terms, right, with a freeze and a one percent reduction.

MR. ANDRE:  Again, I wouldn't say artificially reduced.  The rates they were paying, they were frozen for Five years, and in some cases hadn't been rebased.  Norfolk, Haldimand and Woodstock had the same issue that OPDC and Peterborough have.  Some of their rebasing was, you know, three or four years old.

So they hadn't been rebased and their rates were frozen.  So that is why you had lower rates going in, as inputs to the cost allocation model resulting in those low revenue to cost ratios, yes.

MR. SHEPHERD:  If you start out with lower rates, generally speaking, you are going to have low revenue to cost ratios, correct?

MR. ANDRE:  You're right.  So you need to make sure that as part of your rate design, you bring those revenue to cost ratios to within the Board-approved range to make sure you are treating everybody fairly.

MR. SHEPHERD:  So this proposal that you made, new classes, adjustment factors -- actually, let me stop for a second.

The adjustment -- you talk about direct allocation, but actually your cost allocation approach is not direct allocation, is it?  It is calculating an adjustment factor to be a proxy for direct allocation, because then you're going to use that adjustment factor going forward, right?

MR. ANDRE:  So in the year that they're developed, so in the rebasing year, I would say it is an exact proxy for ensuring that you're recovering the actual assets required to serve those customers.

Yes, once those adjustment factors are set, in subsequent years you would allocate the same amount, the same total of Hydro One's -- whatever the model will allocate in future years, the adjustment factors would apply to that future year allocation.

But they're developed based on knowing exactly what assets are required to serve those three acquired utilities, or in this case, Orillia and Peterborough.

MR. SHEPHERD:  So I wonder if you could go to page 41 of our materials.  This is the original adjustment factors that you proposed in the 0049 case, right?  They were subsequently changed because of the distribution stations, but these are the original ones, right?

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  Okay.  And tell me whether I am reading this right.  Take for example in the top you see GFA, which is gross fixed assets, right?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  Gross fixed assets drives some of your allocators, which in turn drives some of your allocated costs, right?

MR. ANDRE:  Yes, gross fixed assets is the asset -- it is used to develop the asset allocators, which are directly used to develop OM&A costs, yes.

MR. SHEPHERD:  And capital costs, too, depreciation and --


MR. ANDRE:  Correct.

MR. SHEPHERD:  -- PILs and ROE and interest, everything, right?

MR. ANDRE:  Correct.

MR. SHEPHERD:  And so if I read -- you see UGSD is one of the acquired classes that you proposed, right?

MR. ANDRE:  Correct.

MR. SHEPHERD:  Do I understand correctly what that .19 means is you let the CAM allocate your assets in the normal way.

And then you say, but for this class, we're only going to take 19 percent of the assets allocated to that class and treat that as the real allocation, right?

MR. ANDRE:  That's what that allocator says, yes.

MR. SHEPHERD:  And then similarly with all of these, these are basically percentages of what the CAM would otherwise allocate.

MR. ANDRE:  Yes, correct.

MR. SHEPHERD:  And so for example, let's say gross fixed assets for acquired UGSD is 19 percent.  That other 81 percent, where does it go?

MR. ANDRE:  That was the amount of assets being used by legacy classes that was being inappropriately allocated to the acquired.

So they go back to the legacy classes that are actually making use of those assets.

MR. SHEPHERD:  Now, it's not like you are loading more costs on the legacy classes, right, because they're already paying for those.

MR. ANDRE:  Correct.

MR. SHEPHERD:  So all you are doing is you're saying you're going to pay for a little less of them, but you're still going to pay for most of them, because you are the ones using them.

MR. ANDRE:  That's correct.

MR. SHEPHERD:  Right, okay.

MR. ANDRE:  Sorry, Mr. Shepherd, I thought you might have asked why it is .197 for the GSD, because you notice the numbers -- that makes it seem like, wow, only 20 percent.  These adjustment factors also recognize that the -- under Hydro One's cost allocation model we have a specific minimum system and something called PLCC, the peak load carrying capability, which is something that shifts costs between residential and general service demand classes.

Hydro One uses a minimum system and PLCC adjustment based on a study that it did, I want to say like 2012.  So we have a Hydro One-specific adjustment.

Orillia and Peterborough still use the Board's default PLCC numbers, and what that means is Hydro One's model would -- cost allocation model which follows the Board principles -- and those PLCC adjustments were reviewed and approved by the Board -- allocates more to the GSD.

So in order to align with how much Orillia and Peterborough would have allocated to the GSD class, you have to back off a little bit more from the GSD classes and put them back to the legacy classes that are actually driving those costs.

MR. SHEPHERD:  Now, on page 41, these adjustment factors, these are the ones from 0049, right?  There are similar adjustment factors in the two cases before the Board today.  Right?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  They're not exactly the same, because you went and looked at the actual assets.

MR. ANDRE:  They're a function of the assets being used to serve Peterborough and Orillia, not Norfolk, Haldimand, and Woodstock, so they would be specific to those two utilities.

MR. SHEPHERD:  They are similar, right?  The pattern is similar, let's say.

MR. ANDRE:  Yes.  The pattern is similar.  And the numbers used for Peterborough and Orillia are in evidence.

MR. SHEPHERD:  Yeah, I meant to actually put them in here and I just forgot.

So -- all right.  Then what you do -- I am going to come back to how these adjustment factors actually play through the CAM.  But I want to talk about density first, because you have a distinction here between the dense classes and the -- or the dense acquired classes and the not so dense, which is roughly equivalent to UR versus R1, right?  Roughly.

MR. ANDRE:  Hydro One had asked, based on that study that you had, that previous reference that showed those sample areas based on that study Hydro One developed density adjustment factors to ensure or to try to get the costs for serving urban medium density and low density areas to more accurately reflect the actual costs to serve them, so, yes, we have density factors for residential, general service energy, and general service demand.

MR. SHEPHERD:  So can you go to my -- to page 31 of K1.3, please.  And I want to say, Madam Chair, that I only put this in here to prove that I did look at the CAM, actually, line by line.

And this was provided to you earlier in the weekend, Mr. Andre?

MR. ANDRE:  Yes, it was, Mr. Shepherd, and I thank you for doing that.  It gave me a chance to look at it ahead of time.

MR. SHEPHERD:  And these are the numbers from your 2030 CAM, right?

MR. ANDRE:  Yes.

MR. SHEPHERD:  And so what I want to talk about is how you actually do this.  So in order to do that I first have to ask a couple of questions.

First of all, can you tell us what DCP is, please.

MR. ANDRE:  Distribution coincident peak.

MR. SHEPHERD:  Okay.  So DCP1 is monthly, 4 is quarterly, and 12 is annually?  Or --


MR. ANDRE:  Vice versa, so P1 is the one peak in the year, and P12 would be the 12 monthly peaks in a year.

MR. SHEPHERD:  Okay.  And then DCP1DA is the DCP1 numbers adjusted for the density factor, correct?

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  Okay.  And these numbers across the way, the, like, 6243, 791, are they dollars?  Or are they something else?

MR. ANDRE:  Those are the --


MR. SHEPHERD:  This is from your E2 sheet.

MR. ANDRE:  Yes.  No.  Those aren't dollars.  Those would be either the coincident peak 1 values, the coincident peak 4 values, or the coincident peak 12 value, so they're the sum of the coincident peaks for those individual classes, and then the 6,000 -- or 6 million 243 would be the sum of the individual class coincident peaks.

MR. SHEPHERD:  So these are kilowatts then?

MR. ANDRE:  Correct.

MR. SHEPHERD:  Okay, good.  So what you do with density factors, if I understand correctly, is you've done a study that shows how much more it costs for you to serve rural areas versus urban areas, and actually, your study looked at what are the components of those differential costs, right?

MR. ANDRE:  Yes.  The study looked at a number of components and drivers of those costs.

MR. SHEPHERD:  Because you wanted to then feed those into your cost allocation model?

MR. ANDRE:  Like you say, we wanted to understand the differential between serving an urban area versus a medium density versus a high density area.

MR. SHEPHERD:  And so you came up with -- you see line 152 is the density factors for each of the classes.

And before I ask you about how that works in practice, I want to clarify that from columns 9 to 16, these all have a density factor of 1.  But tell me whether I am correct:  That number is not used anywhere else.  It is just a placeholder, and it is not in any formula anywhere.

MR. ANDRE:  Yes.  It's just there to show that those classes are not adjusted for density in any way.

MR. SHEPHERD:  All right.  And that includes, by the way -- and this is from your current model -- that includes your proposed acquired classes, right?

MR. ANDRE:  That's right.  So the basic allocation wasn't accounting for that there's any sort of density-type adjustment for those acquired classes.  We were making all of that adjustment via the direct allocation.

MR. SHEPHERD:  All right.  So -- and then what your concept of density factors -- tell me whether this is correct -- is you take the first four, UR, R1, R2, and seasonal, which are your residential classes, and you say:  We're going to reallocate the costs between those four based on that density weighting.

MR. ANDRE:  Reallocate the demand, yes.  We reallocate the demand across those four so that the four in total still attract the same amount of demand, but they're weighted in accordance with the relative, you know, density factors, which is the relative costs of serving each of those areas.

MR. SHEPHERD:  So for example, if you look at the monthly peaks, 165, line 165, and if you add up columns 1, 2, 3, and 4, you get 25.2 million kilowatts.  Accept that subject to check.  And if you add up 260, which is the adjusted numbers for those same four, you'll still get 25.2 million kilowatts.  Right?

MR. ANDRE:  That's correct.  You're redistributing within the class.

MR. SHEPHERD:  Okay.  So for example, UR, the monthly peak kilowatts are reduced from 4677 down to 1664.

MR. ANDRE:  That's correct.

MR. SHEPHERD:  Now, are you doing that because the peak kilowatts are actually lower?  Or are you doing that because this is a driver for your cost allocation?

MR. ANDRE:  The latter.  So we know that these peaks drive the allocation of assets across classes, and then assets drive OM&A costs and asset-related costs, so, yes, that's being done as a driver of other costs within the model.

MR. SHEPHERD:  So if we look at this, we're not saying, well, obviously your monthly coincident peak in UR is a million 664, because that is not correct, is it?

MR. ANDRE:  No.  That's the weighted -- the weighted adjustment based on the density factors.

MR. SHEPHERD:  Okay.  And you see that in '14, '15, and '16 there's no change between line 165 and 260 because, as you say, it's a different formula.  The formula is, go look at this number, right?

MR. ANDRE:  The formula is, what is the peak demand that that class is driving on the system and don't change that, correct.

MR. SHEPHERD:  All right.  So you do the same thing then if you look at columns 5, 6, 7, and 8, you do the same thing in the GSE and GSD and UGE and UGd classes, you reallocate based on weight between those four, right?

MR. ANDRE:  It's between two at a time.  So we take the GSE and the UGE and reallocate between those two.  And then we take the UGd and the GSD and re-allocate between those two.  So it is not the four of them together; it's is two and two.

MR. SHEPHERD:  I missed that in the formula.  You know, the formula is really long.

MR. ANDRE:  Tell me about it.

[Laughter]

MR. SHEPHERD:  Tell me about it, yeah.  Now, you could -- tell me whether this is right.  You could include the acquired classes in your density calculations, right?

MR. ANDRE:  So those density factors that you see in row 152, you know, the fact that it costs 4.8 times to serve a R2 class as it does a UR class, so the density factors were developed in relation to the UR class.  So that is why you see 1.9.

So our one is 1.9 times a UR.  R2 is 4.8 times a UR, and seasonal is 3.6 times a UR.

So those density factors were developed based on that sample area, and the study that we've talked about before.  So the -- and ultimately, what those sample or what those density factors are trying to do is trying to come up with what are the costs that should be allocated, what are the assets that are used within those urban areas.

So you could develop a density factor.  But a direct allocation, like we don't need to do that for the acquired utilities because we know the amount of assets required to serve.

MR. SHEPHERD:  Well, okay.  That is a good point and really sort of where I was going, is direct allocation and density factors, at least in this context, do similar things.  Not the same thing, but similar things, right?

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  You're intended to reallocate to get closer to the assets we're actually using for this particular group of customers?

MR. ANDRE:  That's correct.  The density factors, as we've just been discussing, reallocate amongst the residential classes and reallocate among the GSE and UGd classes, whereas the direct allocation adjustment factors identify the specific assets actually known to serve those, you know, PDI and OPDC.  It is not relative to anything else.  It's the actual amount of assets known to be required to serve Orillia and Peterborough.

So it's not relative.  That is the distinction, Mr. Shepherd. The other ones are relative to each other within the class.  That is the distinction between density factors and the direct allocation adjustment factors.

But I agree that in the end, they're trying to achieve the same thing.  The direct allocation factors achieve it much, much better than the density factors.  The density factors get you close, but it's based on a study that, you know, had a number of average costs built into it.  The design of the sample areas had a bit of an issue.

In fact, if you go to page 40 -- and this is on the record, page 40 of the density report.  You were there, because you pulled out one of the sheets.

If you go to page 40 of that report, you will see that the authors of the report actually said they recognize that the derivation of the urban sample areas was such that you were including some low areas, low density areas around it.

So they make the statement that while the density factors improve the allocation, the urban classes' costs are still likely overstated even with these density factors.

MR. SHEPHERD:  Why haven't you fixed that then?

MR. ANDRE:  Because the density -- this was the best study and at some point, we may want to redo the study.

But there aren't costs -- I mean, that is part of the problem.  When you're looking at your existing rate classes across your whole service territory, you have to come up with some way to try to identify the costs.

You can use a GIS system and you can use actual replacement costs and a number of factors that were done within the density study that we have been referring to.  But it's still going to be an approximation.

Could the approximation be improved?  I suppose at some point we could redo that density study and see if we could get any closer.

But Hydro One believes it is a relatively good approximation of what it costs to serve high, medium and low density areas.

MR. SHEPHERD:  So I am right, am I not, that at any given point in the future -- let's say we go out ten years and we look at Brockville and Peterborough, it's likely that the actual costs to serve them will be similar.  Is that fair?

MR. ANDRE:  If you could identify the actual costs to serve Brockville, yeah, I would suggest they would be similar.

I don't know enough about the, you know, the makeup, the distribution system makeup, the relative number of poles and wires and transformers.  But they're both similar urban areas.  So to the extent that they have a similar service territory, then yes, the costs should be similar.

MR. SHEPHERD:  So the only reason that you allocate differently to them is that you have different information for those two communities.

If you had the same information, you would use a common allocation method, whatever the more precise one was to allocate to them, right?

MR. ANDRE:  That would be -- that certainly would be a possibility.

I think when you talked earlier to do that, it would also mean then you now have to start creating -- so we have approximately 30 urban areas.  So that would be 30 sets of residential, general service, energy general service --


MR. SHEPHERD:  Why is it 30?

MR. ANDRE:  We have about 30 urban areas.

MR. SHEPHERD:  Didn't you say the costs to serve one and the other are going to be similar?  So your 30 urban areas could be one class, right?

MR. ANDRE:  Okay, point taken.  So you could create -- well, no, I would disagree.

So if you are going to do that, if you are going to make a point of saying Brockville, then let's look at each of these urban areas and make sure they have the similar costs, because some urban areas have 3,000 customers.  Some urban areas have 10,000 customers.

So they're urban as far as a rate class and the rate class, you know, tries to include like customers.  So we have made the call that if you are above 3,000 customers within an area, then you are going to be classified as urban.

But there is a range of urban areas from 3,000 all the way up to ten, 12,000 customers.

So if we're going to do what you're suggesting, I would want to see are there really different rates for all of these urban area.

Remember, to the extent you do that, it then -- if you are going to collect less costs from those urban areas, you are pushing costs over to your R1 and R2 classes.

So I think there are broader implications to Hydro One's rate structure to do something like that.

MR. SHEPHERD:  But you are only pushing costs out to those other classes because the urban classes shouldn't fairly bear them, right?  You wouldn't do it unless it is because it's those other classes that are actually incurring those costs, right?

MR. ANDRE:  This is something that in the context of a distribution application, Hydro One's distribution application, could probably be explored more fully.

I think for this application that is focussed on Peterborough and Orillia, the concept of ensuring as the Board indicated in their MAADs decisions, make sure when you develop rates for these utilities you charge them their costs to serve.  The direct allocation of asset costs in these cases ensures that we're correctly charging them to costs to serve.

I think to go beyond that into Hydro One's broader structure has broader implications for all of our other rate classes.

MR. SHEPHERD:  So this solution to the problem -- and I take your point.  It is not like it is done.  You are being as precise as you possibly can be.  This solution, three part solution of separate rate classes, adjustment factors, and let the revenue to cost ratios fall where they may and get them into range, that solution was proposed in 0049 and the Board rejected it -- and not only rejected it, but was highly critical of it.  Is that fair?

MR. ANDRE:  So, you know, in developing the evidence for 0049, I think there was a lot that we didn't appreciate in terms of the arguments that would need to be made.

So the fundamentals are largely the same.  We have made some improvements to the cost allocation model, to the tracking of the adjustment factors in the future.  So we have made those improvements.

In fact, in interrogatory VECC I-4-24, we go through each of the points that the Board raised.

So I would encourage everyone to go and read that IR, because we address each of the points that the Board made.  And I concede in there we didn't do as good a job laying out the case for, you know, why we were doing what we were doing.

As an example, for rate classes, we basically said we're creating these rate classes because it is absolutely necessary in order to achieve what the Board told us to do.

We didn't really expand on that, in terms of the reasoning.  We didn't expand on the fact that, you know, the Board recognizes that creating new rate classes is appropriate.  That comparison to status quo shall, that wasn't in our original evidence.  That came up later in Q1-1.

So the fundamentals didn't change, but we didn't -- I will be frank, because it was my evidence.  We didn't do a good enough job of explaining the basis for our proposals and the rationale for those proposals.

MR. SHEPHERD:  Okay.  So it sounds like what you're saying, Mr. Andre -- and we talked about this at the technical conference.  In fact, just in case you were denying that, I was -- I had it in here just in case.  But you didn't.  It sounds like what you are saying is the Board got it wrong in 0049.  We were right, they were wrong, but it was our fault because we didn't explain it right.  Is that what you are saying?

MR. ANDRE:  No, I'm not saying the Board got it wrong.  I am saying the Board made its decision based on the evidence that was presented, and the way that evidence was presented somewhat piecemeal in Exhibit Q1 that was filed later in interrogatories, et cetera, didn't provide a sufficient and complete picture of our proposal.

The goalposts, for example, is something that in our final argument we touched on the costs are going to fall between these two numbers, but that notion of ensuring that you have those goalposts to make sure that acquired customers, you know, at least pay their revenue requirement that they incur, that they drive, and at most pay the costs that they would have paid had they not been acquired, that concept, for example, wasn't front and centre in our 0049 application.

So there were a number of things --


MR. SHEPHERD:  It was in there, right?

MR. ANDRE:  No.  The reference to goalposts, no.

MR. SHEPHERD:  You never used the term "goalposts", but that notion that you would ensure that they were between those two markers, that was in there, right?

MR. ANDRE:  That notion of ensuring that they would be between those two markers?

MR. SHEPHERD:  Yes.

MR. ANDRE:  I don't recollect, Mr. Shepherd.  I stand to be corrected if you could find it, but I don't -- I do recollect that in our, as I say, in our final argument and certainly in our reply argument we tried to make that point.  But, you know, that might have been a little too late, in terms of all of the evidence that had been gathered.

MR. SHEPHERD:  Weren't you asked in that case whether -- what would happen if the residual costs were higher than status quo, or the, or conversely, the allocated costs were lower than -- I can't remember.  Weren't you asked what you would do if the end result was outside the range and -- that specific range, and you said, well, we would have to adjust through revenue-to-cost ratios and things likes that, right?

MR. ANDRE:  That would have been in an interrogatory, which goes back to my point of not really providing a full picture right at the outset.

And it might have been, yes, we would adjust the revenue-to-cost ratio, but it doesn't get to the point of ensuring and making a commitment at this stage of the proceeding to make sure that those costs that eventually get paid for by Peterborough and Orillia customers fall between those goalposts.  I don't recall that we ever made that commitment of ensuring that that was the case.

MR. SHEPHERD:  All right.  I want to -- so you agree, don't you, and you said this in the technical conference, you -- and this is on page 32.  You agree that essentially this is the same proposal that you put before the Board in 0049.  You made some changes.  I am going to talk about the changes in a second, but it is essentially the same proposal?

MR. ANDRE:  We have made what we think are some significant changes, and we have made that commitment with respect to the goalposts.  Those things are different.

MR. SHEPHERD:  Okay.  So let's talk about the three differences that you talked about in your direct.  And if I find my notes I will remember what they are.

So the first difference was you're going to continue to track capital.  Right?  After rebasing.

So how does that affect your rate proposal?  Tell me how that affects your rate proposal.

MR. ANDRE:  So that will let us know beyond the rate rebasing period exactly how many -- how much assets we should be directly allocating via the adjustment factor to the model.  So it will let us recalibrate the adjustment factors on a go-forward basis, which is something that was raised as a concern.

MR. SHEPHERD:  Well, that's right.  And of course that would be at your costs, though, right?  So if your costs, if Hydro One's costs are higher than PDI or OPDC, if it costs you more to put in a distribution station, well, then you would be basically moving them closer to -- moving those customers closer to a Hydro One level of rates and away from status quo.  Right?

[Hydro One panel confers]

MR. ANDRE:  Sorry, Mr. Shepherd, if you don't mind, could you repeat the question?

MR. SHEPHERD:  Sure.  If you are tracking the actual costs of capital investments in PDI and OPDC after rebasing, then if Hydro One has higher costs than PDI and OPDC on a unit basis, then what you are doing is you are forcing those customers to move up to your rates eventually over time?

MR. ANDRE:  Yes.  So the incremental capital that got added beyond the rebasing period would be -- would be at Hydro One's cost.

So, you know -- and so, yes, over the life of the assets of, you know, 30, 40 years, then the assets would have been turned around, and now all of the assets reflect Hydro One's costs.

As Mr. Faltaous will be able to speak to, Hydro One, you know, over that kind of period and in our last two applications, we made significant efforts to improve our productivity and improve our efficiency.

So I believe that, you know, our costs, our capital costs, are coming down, and those reduced capital costs would be reflected in those adjustment factors.

So -- but to your point, yes, the adjustment factors would reflect the incremental capital at Hydro One's costs.

MR. SHEPHERD:  So it doesn't protect those customers from your costs being higher.  Your costs are higher now, right?

MR. FALTAOUS:  No, I would disagree.

MR. SHEPHERD:  Okay.  We just went through your distribution rate case and we saw no evidence that your costs were lower than anybody.

MR. FALTAOUS:  So what we produced is a Hydro One forecast that is able to manage the assets of OPDC and PDI prudently, and you have the forecast and you can see that this is done on an annual savings.

MR. SHEPHERD:  Well, no.  In fact, you are spending less money, right?  In your forecasts you spend less money than OPDC and PDI, right?

MR. FALTAOUS:  We're spending very similar levels of money.

MR. SHEPHERD:  It is lower, right?

MR. FALTAOUS:  Very slightly.  So for OPDC -- for PDI the actual forecast, if I can take you to Exhibit A, tab 2, schedule 1, it is about 91 percent is the Hydro One capital forecast --


MR. SHEPHERD:  65 million.  Is it 60 versus 65 million?

MR. FALTAOUS:  Correct.

MR. SHEPHERD:  Yes, okay.  And part of reason is because PDI is going to replace and refurbish nine distribution stations, and you are only going to replace or refurbish six.  Right?  In fact, that is more than the total.

MR. FALTAOUS:  No.  So I think that is actually a misunderstanding.  If I could take you to undertaking JT1.8.

MR. SHEPHERD:  Okay.

MR. FALTAOUS:  So in this undertaking we have specified that Hydro One, as part of, you know, our process of reviewing all of the assets of PDI and developing our plans, we've specifically identified six stations that need to be addressed based on their condition.

But our capital envelope for stations is sufficient to do more than that.  And if I can take you to the attachment in JT1.8, where we have broken up our distribution stations capital envelope, so this is page -- attachment 1.  For PDI, if you look at the total dollars, if you look at the total dollars associated with distribution stations, if you add it up it works out to about $18.1 million.

And if you look at the similar number, which is from SEC 23 in PDI, which would be -- I will give you the reference.  One second -- which would be Exhibit I, tab 2, schedule 23, in the attachment there.  And their total dollars for distribution stations capital is 18.4 million.  So we're talking about 18.1 versus 18.4 million.

And again, we have specifically identified six stations that need to be addressed.  However, we expect that more will need to be addressed over the ten-year period, and we have provision within the distribution stations capital envelope to address those stations.

MR. SHEPHERD:  Mr. Stephenson gave evidence in the technical conference that PDI has a plan to replace/refurbish nine stations for that $18 million.

You said -- I think it was you, said in that same technical conference, we have a plan to replace and refurbish six stations in that 18 -- for that $18 million.  It sounds to me like your stations cost 3 million and his cost 2 million.

MR. FALTAOUS:  No.  That is incorrect.  I said that we had identified six stations specifically that need to be addressed, but we have a capital envelope that could address more than that.   And if that is the way it came across then it was a misunderstanding.

The actual -- if you look at JT1.8, specifically in lines 27 to 34, we specify that in addition to these six stations we can actually -- we have an additional capital envelope that could address as much as initial ten transformer replacements.

MR. SHEPHERD:  Could you go to our materials at page 14, please.  This is you, right?

MR. ANDRE:  Just give us a sec.

MR. SHEPHERD:  You are describing your Hydro One plan and at line 15, and you say -- and I am quoting:

"So this plan has been developed to be able to address the risks associated with six substations for Peterborough over the ten years."

How is that ambiguous?

MR. FALTAOUS:  Just give me one second, please.  If I can take you to the transcript of day two, specifically page 3 on line 20.

MR. SHEPHERD:  You can just read, it if you want.

MR. FALTAOUS:  Sure.  So this was when Mr. Stephenson made the clarification around the nine stations being refurbished as opposed to replaced.

You had posed the question, Mr. Shepherd, around that there are six stations we would be addressing.

I noted there that there are six we have clearly identified, but a capital envelope that could be used to address more if needed.

MR. SHEPHERD:  So go back to page 14.  Look at line 25:
"What we deemed was a prudent number," again this is you, "to address over the ten years was six in this particular case."


Again, doesn't sound ambiguous.

MR. FALTAOUS:  Yes.  So if that is how it came across, that was a mistake and it was clarified on day two in the statement that you are seeing up on the board there.

MR. SHEPHERD:  Do you have any evidence that your unit costs are the same or less than Peterborough or OPDC?

MR. FALTAOUS:  No, I don't.  And I think when we talked last time within the context of unit costs, we said that, you know, there's a significant number of variables that could impact the costs of doing work.

So if we're talking about substations, for example, the size of the station, how many transformers, the configuration of the station, there's a number of factors that could significantly impact the cost of doing a substation refurbishment or replacement.

MR. SHEPHERD:  All right.  So I have lost where I was.  The second -- the first of your of your changes, that is where we were, I think, if I can still find it again, the first of your changes was Mr. Andre was tracking capital.

You will agree with me that if your unit costs are higher, that will eventually move the rates of PDI or OPDC customers higher, relative to what they would have otherwise have been, correct, if your unit costs are higher?  If they're not, then that is not true.

MR. ANDRE:  Sorry.  They would -- the adjustment factors would have to reflect those capital costs, but the adjustment factors, you know, reflect a number of things, the density, the makeup.

So you are actually taking into account the amount of assets that are being used to serve Peterborough and Orillia and so, yes, to the extent that the incremental capital costs, if they are at slightly higher costs, then that would be reflected.

But, you know, the reduction in shared costs, that is not going away.  That is something that will continue forever more.  You will be able to split the shared costs among both your legacy customers and your acquired customers.

MR. SHEPHERD:  So that means the acquired customers will pro rata have the same savings because of the economies of scale that your legacy customers have, right?  That's what that point is.

If your legacy customers get $10.95 each savings because of economies of scale, the acquired customers will get that, too.

MS. RICHARDSON:  It also means that if, for example, in five or ten years, that PDI or Orillia needed new customer information system, needed a new financial statement, you don't have to pay those incremental costs.

Those would be new costs they have to pay and customers would eventually be recovering in their rates.

So there are savings as a result of some shared costs that we do have amongst the utilities.

MR. SHEPHERD:  Sorry.  If you put in a new CIS, the Peterborough and OPDC customers won't pay their fair share?

MS. RICHARDSON:  No.  I said if they were status quo, they would have had to pay for their own.

So now if we put in a new one, they would be amongst -- there would be 30,000 customers allocated over a total 1.13 million customers.  They would pay a portion of it versus the full cost of it themselves, as long as all other new technologies that will be up coming in the next, ten, twenty, thirty years.

MR. SHEPHERD:  Your costs of those new technologies is typically significantly greater than Peterborough's, yes?

If you put in a customer information system, does it cost the same as one for Peterborough?

MR. MERALI:  When you're implementing large IT systems, there is typically a fixed cost.  As you get larger in scale, the cost on a per-customer basis would be lower as you have a larger footprint.

MR. SHEPHERD:  Generally.  And is that the reason why Hydro One's rates are so much lower than everybody else's?

MR. MERALI:  I am specifically talking about putting in a new IT system.  There's a number of factors that go into deriving rates.  So it is more economical when you're putting in large systems.

Furthermore, in some of the discussions we have had with our counterparts, Hydro One, given its size and scale, is able to deploy technology, customer-facing technology that the other utilities are not.

So for example, we have an outage app that customers can go to see if there's a power outage in their area, what the time of restoration is, what the status of the crews are.

A utility the size of Peterborough or Orillia, unfortunately that technology is uneconomical and they're unable to provide that type of service to customers.  So there are absolutely benefits being part of a larger utility that customers in Orillia and Peterborough will see.

MR. SHEPHERD:  Your outage app isn't half as good as the London Hydro one, isn't that right?

MR. MERALI:  That may be your view and opinion.  But we have 300,000 customers that actually use you're outage app on a regular basis, and the satisfaction with our digital channels is up in the 80 and 90 percentile range, so I wouldn't subscribe to that opinion.

MR. SHEPHERD:  All right.  I want to deal with the other two changes that you say you made to your proposal.

The first is you modified the upstream facilities to reflect the load actually supplied by upstream as opposed to supplied locally, true?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  And do we have anywhere in the evidence the impact of that on PDI and OPDC, of that change?  How much does that reduce the costs allocated to them?

MR. ANDRE:  No, I don't believe -- I don't believe that is in the evidence.

MR. SHEPHERD:  That's something you can provide, right?

MR. ANDRE:  Yes, that's something we could provide.

MR. SHEPHERD:  Could we get an undertaking for that?

MR. ANDRE:  Sure.

MR. MILLAR:  I think we are at K 2.2 -- or sorry, 1.2.

MR. SHEPHERD:  J or K?

MR. MILLAR:  J1.2. 
UNDERTAKING NO. J1.2:  TO EXPLAIN THE IMPACT OF THE MODIFICATION OF UPSTREAM FACILITIES TO REFLECT THE LOAD SUPPLIED BY UPSTREAM, HOW MUCH IT REDUCES THE COSTS ALLOCATED TO PDI AND OPDC


MR. SHEPHERD:  Then the last one is the goalpost concept, which we were just talking about. You will agree that if you didn't use the term "goalposts" in EB-0049, certainly that concept was embedded in what you were proposing to the Board and you did refer to it in argument, right?

MR. ANDRE:  Yes.  We did refer to it in argument.  It wasn't a commitment made, an up front commitment and it wasn't something that we -- remember, Norfolk Haldimand and Woodstock was a rebasing application.  We were actually asking for rates.

This is something that when we're talking about rates here and cost allocation, let's not lose sight of the fact that we're talking about something that is going to happen ten years from now.

So this is a commitment that we're making to ensure that ten years from now, regardless of how things turn out, there's going to be changes to rate classes -- I mean, who knows all of the changes in the industry.

The commitment is to ensure that those allocated costs and the costs to be collected from customers falling within those goalposts, and that commitment is not something that was made in 0049.

MR. SHEPHERD:  I am very clear, Mr. Andre, on the fact that this is not a rate application.  It is a MAADs application.  One of my school board people said to me, well, yeah, the real difference is in a rate application.  You're going to be back in a few years and if you didn't get it quite exactly perfect, that's okay; you can fix it

But in a MAADs application, if the Board says yes and they're wrong, those customers are screwed permanently, right?

MS. RICHARDSON:  The evidence is still, as we said earlier, there's significant OM&A savings.

So it is still a matter of when you do the cost allocation rate design in those years, there is still -- that is where those rates will be determined.

We're taking out almost 70 percent of the OM&A costs; that is significant.  So there is savings and it's a matter of how we allocate them amongst rate classes in 2030.

MR. SHEPHERD:  Madam Chair, is this a good time to take a break?

CHAIR SPOEL:  Sure.  Let's resume at 3:15.
--- Recess taken at 2:55 p.m.
--- On resuming at 3:18 p.m.

CHAIR SPOEL:  Please be seated.  Mr. Shepherd.

MR. SHEPHERD:  Thank you, Madam Chair.

So Mr. Andre, we've talked about the three parts to your rate design -- rate proposal.  And you will agree with me, won't you, that the adjustment factors have the biggest impact on the costs allocated to the acquired class, right?

MR. ANDRE:  Yes, yes, the direct allocation of costs is a big impact on the costs that go to the acquired classes.

MR. SHEPHERD:  And if you look at page 34 of our materials, in the technical conference on the second day you admitted that the impact would be a big number.  Right?  Impact of those adjustment factors is a big number.

MR. ANDRE:  Sorry, can you take me to the --


MR. SHEPHERD:  Yeah, line 4 and 5.  I don't know that -- the exact quantum, but, yes, it would be notably higher.

MR. ANDRE:  That was with reference to the 90 -- let's say 90, we were talking about 89 versus 90.

So this reference to the acquired utilities that were merged in 2000 -- and, yes, because those utilities were merged into the legacy classes without any recognition of what it actually cost to serve them, moving these acquired classes into legacy classes would have an impact that would not appropriately reflect their costs to serve, and it would be a big impact, yes.

MR. SHEPHERD:  I wasn't actually asking that.  I was asking just the impact of the adjustment factors.  I should have included page 16, I'm sure.  But in any case, let's go to the next page, page 35 of our materials, because we asked you specifically, can you just tell us what the CAM results are in your 2030 CAM, which you have already given us, without the adjustment factors.  And we went back and forth and back and forth, and you said no.

So can you help us understand why you won't tell us?

MR. ANDRE:  So when you say without the adjustment factors, you're saying ignore the direct allocation.  Tell us what it would cost, and I think you correctly pointed out that the -- when you showed that density factor sheet and you showed the density factors that applied to the three acquired classes, it was one.  In other words, there is no density adjustment.

So what you are suggesting is allocate the costs to those three acquired classes as if they were paying average Hydro One costs.  So average Hydro One; in other words, the entire service territory, including a large part of it which is rural.

And so what you were asking -- what we were talking about in that exchange was allocate those types of costs to the acquired classes and that would be, one, it's not only -- only not what we're proposing, that is not what we're proposing to do.  But it would result in a number that, it would have no value.

I mean, to say that the average Hydro One cost, which for stations I think we already showed that if you did that for stations you would be allocating $40 million in costs instead of 17 million that we actually know are the station costs required to serve, and I think you previously mentioned -- quoted the numbers that for poles and the other thing, it was like 500 million, whereas with the adjustment factor it is 200 million.  You would be saying take those high average costs and say that those are the costs to serve those three acquired classes, and I didn't think that was appropriate.

MR. SHEPHERD:  Sorry, let me just stop you.  That's not what we talked about.  If you go to page 36 we specifically talked about treating them as in the urban classes specifically.

MR. ANDRE:  Okay.

MR. SHEPHERD:  So we didn't say average costs.  We said get rid of the adjustment factors, treat them like any other customer.  So that would include putting them in an urban class if they qualified, right?

MR. ANDRE:  Right.  And the urban classes I had indicated, you know, there's -- while the density factors result in a better allocation of costs to the urban class, there's still quite an element of averaging within the urban class, and the, you know, the authors of the original density factor or density study indicated that the urban class as it is currently defined is still overpaying relative to what it costs to serve.

So it would be better, but would still not be a true indication of what it would cost to serve those acquired classes.  The best indication is what are the direct costs actually being used to serve them.

So that is why we didn't think it was appropriate, and it wasn't what we are proposing.

MR. SHEPHERD:  Well, just because it is not what you're proposing doesn't mean that we shouldn't -- the Board shouldn't look at it, right?

MR. ANDRE:  With the caveat that what they would be looking at is inconsistent with the cost allocation principles that are -- you know, that the Board allows for, which includes direct allocation.

MR. SHEPHERD:  But we don't have -- I asked you before lunch about the -- or maybe before the break -- I've lost all track of time now -- about what happened in the 0049, and you said you could have provided us with the impact of the adjustment factors but you just didn't ask.

So in this proceeding, we asked.  And you refused.  Right?

MR. KEIZER:  I did refuse, and it was on the record at the technical conference that we did so, and I think it is for the basis of which Mr. Andre has indicated, which to do so would not be appropriate and it was contrary to the cost allocation principles.  That is the answer he gave at the technical conference.  It is the basis he gave it today, and so that was the basis on which we refused, and we believe it is not appropriate to pursue calculations which are inconsistent with the cost allocation principles 
that -- as previously espoused, and the fact that the direct allocation of costs is the most appropriate.  That was the basis of the refusal, and it is also the basis of the objection now.

MR. SHEPHERD:  Which cost allocation principles are these?  Because it sounds to me like the cost allocation principles that you apply to all of your other customers, right?

MR. ANDRE:  Which, when you are trying to divide the cost of serving a utility among all of the rate classes, it is perfectly reasonable to find some allocator to do that, and coincident peak is a reasonable allocator when you are trying to split costs among all of your rate classes that actually incurred those costs.

When you are bringing in three new acquired classes into the mix and you know the costs associated with serving or the assets associated with serving those utilities, to me it is no longer appropriate or not the optimal solution to continue to rely on coincident peak as the allocator, particularly, as I say, since this notion of direct allocation is something that is a principle that, you know, that is recognized as a good basis for allocating costs.

MR. SHEPHERD:  So as it stands right now, this Board doesn't know whether using these allocators as you have, as you proposed, reduces the costs to these acquired classes by $1 or $50 million.  It has no way of knowing, and you won't tell them.  Right?

MR. ANDRE:  I mean, that is a number that could be derived.  It will tell them how much more you would allocate if you did it in this inappropriate or less optimal way that doesn't accurately reflect the costs to serve those acquired utilities.

But it is a number that could be developed.  I mean, I'm at the point where if you want to see that number I'm fine with calculating that number.  It's going to tell you something that will inappropriately reflect the costs to serve those acquired utilities.

MR. SHEPHERD:  We know what the costs allocated to these urban classes would be if they were in the urban classes, right?  Because we can look at the urban classes.

MR. ANDRE:  No, not really.  I think you would have to combine the load forecasts.  You would have to combine all of the -- all of the inputs to the model of a new class that includes the existing urban plus the acquireds, come up with the new inputs to the cost allocation model, and then rerun it.  Yeah --


MR. SHEPHERD:  It's not a complicated process, because you have more urban customers every time you file a cost allocation model.  Right?

MR. ANDRE:  And we produce an updated load forecast and an updated inputs to the cost allocation model for that new urban class, you know, not new, but for the existing urban class, given the inputs to the cost allocation model.

So given the number of customers and their load at the time that we file it, yes, we update that information every time we do a cost of service.

MR. SHEPHERD:  So you have that information?  For 2030, for example, you have all of that information?

MR. ANDRE:  We have a forecast of that information.  That's used to develop the cost allocation and proposed rates that we have in this application.

MR. SHEPHERD:  So it wouldn't be complicated? I mean, it's not like you're going to have to spend weeks, right, to do that?

MR. ANDRE:  We would have to combine all of those inputs and say, okay, we're going to pretend that the acquired customers should be allocated costs based on their coincident peak, even though we know the actual costs that should be allocated to them in terms of assets.

Is it complicated?  I would have to check with my team in terms of the level of effort that would be required to rerun that cost allocation model.

MR. SHEPHERD:  Can you give us -- I don't want to make you do a whole bunch of work and produce a complicated model after the hearing that, you know, doesn't help anybody and waste a lot of your time.

Can you give us an order of magnitude number that would help us understand just sort of, you know, is it more likely to be five million or $30 million, the impact of these adjustment factors?

I am talking about the impact now on the costs allocated to the classes.  Can you tell us close enough so that we know how many digits it is?

MR. ANDRE:  The best that I could do is -- they would migrate towards the costs that you see for our existing urban class.  I mean, I think we have 171,000, like in the hundreds of thousands of urban customers.

Well, so now I am answering my own question.  It's about 170, but we wouldn't be adding a small number.  It would be a relatively big number, if we included all of these in that urban class.

So, yes, I am not exactly sure -- if it was a relatively small number, I could say including that shouldn't change the urban numbers themselves.

But if you bring in 30,000 into 170,000 customer class, it could have a big impact and there's too many moving parts within the cost allocation model for me to say definitively what would happen.

CHAIR SPOEL:  Mr. Andre, the Board is quite interested in hearing -- not necessarily down to, you know, three decimal places or anything like that, but we are interested in understanding the difference. So maybe you can think about it overnight and give us some indication of -- you know, I realize cost allocation is not simple.  There's lots of moving parts, as you said.

But if you were to migrate, what would you be looking for as kind of an order of magnitude, or some kind of notion of what the alternative would be?  Because we think it would help us to better understand your proposal to find out what the alternative to it is.

MR. KEIZER:  Would it be fair, Madam Chair, for us to undertake to take it away in terms of an undertaking response, where we would clarify what we could give and give some kind of a basis for it, including whatever assumptions and qualifications are associated with that?

CHAIR SPOEL:  That would be great.  Thank you very much.

MR. ANDRE:  We can do that.

MR. MILLAR:  That is J1.3.  Just to be clear, is that an undertaking to come back and tell us what you can do, or an undertaking to tell us what you can do and then do it?

MR. KEIZER:  Yes.  I think it is the latter.

MR. MILLAR:  Okay, thank you. 
UNDERTAKING NO. J1.3:  TO PROVIDE AN ESTIMATE FOR THE IMPACT OF COSTS ALLOCATED TO CUSTOMER CLASSES


MR. SHEPHERD:  Now, Mr. Andre, can you go to page 43 of our materials?  And this is from the technical conference in 0049, the third day of the technical conference in 0049.

And you said that the adjustment factors, the ones we're talking about right now, were on page E-6, sheet E-6 of the CAM, the cost allocation model.  Do you see that there at the bottom?

MR. ANDRE:  Yes, I see that.

MR. SHEPHERD:  Okay.  So I went to my copy of the CAM that I spent all weekend, showing as much love as possible.  It doesn't have a page E-6.

MR. ANDRE:  It doesn't have tab E 6?  What is the allocators tab?

MR. SHEPHERD:  There is an E2 allocators, but the E2 allocators doesn't have the adjustment factors on it.

MR. ANDRE:  Is it possible to bring the cost allocation model up?  I know they're there, because...


MR. SHEPHERD:  All I am going to ask you to do is -- because I don't want to go through it in the hearing room, as much fun as this might be.

MR. ANDRE:  We can undertake -- I will undertake to exactly the describe the line within the E2 allocator tab where those adjustment factors are shown.

MR. SHEPHERD:  I know where the adjustment factors are applied in E2, because I showed it to you in that excerpt, right?

What I couldn't find is where the adjustment factors are listed, so that they can then be applied.  So if you can just explain how the adjustment factors feed step by step through the model, that would be useful.

MR. ANDRE:  Right.  So within the E 2, the adjustment factors are shown and the calculation of those adjustment factors are in a separate sheet called the adjustment factor or the fixed asset allocation -- I can't remember the exact title.

So the calculation of them are in a separate sheet.  But then the actual adjustment factors and the application of those adjustment factors are in the E2 allocator.

MR. SHEPHERD:  I didn't see them in the E2 allocators.

MR. ANDRE:  We will undertake to describe precisely where they're shown and how they work.

MR. SHEPHERD:  Thank you.

MR. MILLAR:  That is J1.4. 
UNDERTAKING NO. J1.4:  TO DESCRIBE PRECISELY THE ADJUSTMENT FACTORS IN THE E2 ALLOCATOR.

MR. SHEPHERD:  Thank you.  Now I just have a couple of -- we have a hard stop at 4:45, is that right?

CHAIR SPOEL:  Yes.  Preferably 4:40 because it takes time to get out of the room.

MR. SHEPHERD:  So.

CHAIR SPOEL:  Mr. Shepherd, I know we started late, so you can have some time tomorrow morning.

MR. SHEPHERD:  I was actually wanting to leave as early as possible today because I am tired, but...


[Laughter]

CHAIR SPOEL:  Yeah, well...


MR. SHEPHERD:  So if you said a hard stop of 4:15, I wouldn't complain.

CHAIR SPOEL:  Well, you can make it 4:30 if you want.

MR. SHEPHERD:  Can you go to page 42 of our materials, Mr. Andre?  So this is from 0049, but the same thing would apply here, right?  The concept is the same.

MR. ANDRE:  Yes, the concept on depreciation.

MR. SHEPHERD:  Just different numbers?

MR. ANDRE:  Correct.

MR. SHEPHERD:  All right.  And what this shows is that the unadjusted cost allocation results for the six in that case acquired classes are $17 million of depreciation.

Then when you adjust them, it is $11.5 million.  It is just adding across.

MR. ANDRE:  I will take that.

MR. SHEPHERD:  And so am I right that the way this works is that that $5.5 million of depreciation, which you have moved out of the acquired classes, you have now pushed in to the other classes.

MR. ANDRE:  Right.  So the top row, the unadjusted, so the 17 million that you have calculated is the depreciation associated with the total amount of gross book value of assets that would have been pushed on to those three, or those two -- well, this is 0049.  Now you have me confused with the applications.

So in this case, the three acquired utilities.

MR. SHEPHERD:  Yes.

MR. ANDRE:  And it's what I have been arguing is over-allocating the direct amount of assets required to serve them.

So with those over-allocated assets, you're getting 17 million in depreciation and then once you make the adjustment to directly allocate the assets, there's less gross book value of assets.  So yes, there is less depreciation associated with that gross book value of assets.

So these are tied off of the gross book value of assets. It isn't something that is done just for depreciation.  The adjustments you make for goes book value of assets are then rolled into the depreciation.

MR. SHEPHERD:  So that's exactly the question I was going to ask.

So you don't have an adjustment factor for depreciation. You have an adjustment factor for gross fixed assets, and that adjustment factor then indirectly adjusts your depreciation numbers.

MR. ANDRE:  That's correct.

MR. SHEPHERD:  All right.  And what happens is that 5.5 million that you are not assigning to those classes, that goes back into the pool, if you like, that gets allocated in the normal way to everybody else.  So they will eat that 5.5 million pro rata.

MR. ANDRE:  Well, no.  They will incur the depreciation associated with the gross book value of assets required to serve them.

So you make the adjustment recognizing that the model using its normal allocators would over-allocate the gross fixed assets to the three acquired areas.  So you move some of those gross book value assets back to the legacy customers and quite naturally, the depreciation that goes along with those gross book value of assets would also get moved to the legacy classes.

MR. SHEPHERD:  I was actually asking about the math here, not about the -- like I understand the concept.  I agree.

But what you are doing is you take that five and a half million out of the acquireds.  You then put it back in the pool that is allocated to everybody else, right?  And then that allocation is done in the normal way.  It just has a higher number with it, right?

MR. ANDRE:  Yes.  It is actually reallocated back to the urban, to all of the legacy classes that you show there.

MR. SHEPHERD:  And it's basically weighted, because they get the same percentage of that pool that they would otherwise get, right?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  And the reason why this isn't bad for them is because they would have been paying that, and more, anyway if there wasn't a consolidation.

MR. ANDRE:  That's correct.

MR. SHEPHERD:  Okay.  All right.  So I want to ask about the other customers that are similar to the Peterborough and OPDC customers.  We talked about that at the technical conference at some length.  And you know it is a particular bugbear of mine and my clients.

You have customers that are similar.  They cost similar costs in other areas of the province, right?  Similar costs to PDI and OPDC.  You have admitted this earlier.

MR. ANDRE:  Yeah.  There are urban areas that would probably be similar to Orillia and Peterborough, yes.

MR. SHEPHERD:  And your system -- your current proposal would have those customers paying a higher percentage of costs than Peterborough and OPDC, right?

MR. ANDRE:  Those customers are paying the amount of costs commensurate with the cost allocation principles that are embedded within the cost allocation model.

So they're paying costs based on their relative peaks, coincident peaks, non-coincident peaks.  That is what is driving the costs for them to be allocated, just like all other utilities in the province.

I mean, the costs they pay are a function of those inputs and allocators that exist within the model.  For the two acquired utilities, we now know we have better information on the direct costs required -- or assets, rather, required to serve them, and we're using that better information to allocate the costs to them.

MR. SHEPHERD:  So -- and we asked you at the technical conference then why wouldn't you do that for everybody else in a similar position?  Why would that person in Trenton not have just as low rates as the person in Peterborough?

MR. ANDRE:  The person in -- the Trenton community, we don't have information that lets us specifically identify the amount of assets being used to serve those Trenton customers.

MR. SHEPHERD:  So what you are proposing then is that Peterborough and Orillia customers will have a preferred position because -- and I don't mean that in a pejorative way -- a preferred position because you have better information about the costs they drive.  And so they will get lower rates.

MR. ANDRE:  I wouldn't characterize it as a preferred position.  In all cases we're using the Board's cost allocation model that allocates shared costs, common costs, direct OM&A costs, all of the costs are allocated across all rate classes on the same basis.

The only distinction is that for those acquired utilities we're able to identify the specific assets associated with serving them, and therefore we're building that into the model and then letting the model flow the way it would normally flow in terms of allocating costs across all rate classes.

So I don't know if I would characterize them as preferred.  I mean, the acquired customers are unique to some extent.  We've been given specific direction that to make sure that the costs that we charge them reflect their costs to serve in the MAADs decisions -- in the previous MAADs decisions, rather, and we're trying, you know, as best as possible to do that, to accurately reflect the costs to serve.

MR. SHEPHERD:  Well, it's true, isn't it, that the reason why you have a new cost allocation method for the acquired customers is because otherwise the Board won't let you acquire any more utilities.  Isn't that right?  Because you can't serve them at less than their status quo costs; isn't that right?

MR. ANDRE:  No, no, that's not correct.

I think the results that we have shown here was that when you make -- when you recognize the amount of assets actually being used to serve those acquired utilities and then from that point on allocate all costs, direct, shared, asset-related, all other costs using the Board's cost allocation model, you end up with a result that -- that has -- those acquired customers paying less costs than they would otherwise have paid had they not been acquired.  That result was also true for Norfolk, Haldimand, and Woodstock, and it is true for these two utilities as well.

MR. SHEPHERD:  Well, then you are going to change their adjustment factors over time until eventually they're zero, right?

MR. ANDRE:  No.  They would never be zero, Mr. Shepherd.  They will always -- they will always need to recognize that the average Hydro One cost -- so the average costs associated with the rural utility -- are not appropriate for them.  So they will always have adjustments to recognize that they're urban, that they use less assets per customer.  They would always have -- that adjustment factor would always have that recognition similar to a density factor, if you will.

At a minimum you have to recognize that you can't allocate the average Hydro One cost, because the average Hydro One cost is basically a rural cost, and that is not appropriate to allocate to these acquired utilities.

MR. SHEPHERD:  But that sounds like a straw man, Mr. Andre.  It sounds like you're saying, well, if we didn't apply a density factor to them and they are in dense communities, then we would be allocating average costs to them, and that's not fair.

But the "if then" statement is already begging the question, isn't it?  Because if you eventually get to the point where you have replaced all of the assets serving them at Hydro One costs, isn't it true that the end result is that their costs are the same as if you apply the density factors?  Isn't that necessarily the map?

MR. ANDRE:  It would convert to that, but I think I have been very clear that the density factors that apply to the urban classes are an approximation.  They're a better estimate of what it would cost to serve the urban class, but they're not perfect.  There's still an element of cost averaging that is going into the current density factors, whereas you get rid of that whole cost averaging by being able to directly identify the assets being required to serve the acquired utilities.

MR. SHEPHERD:  So can you give us other examples where you use direct allocation?

MR. ANDRE:  Within our cost allocation model --


MR. SHEPHERD:  Yes.

MR. ANDRE:  -- the sentinel lights.  So there are costs associated with serving sentinel light customers that are directly allocated to the sentinel light class.

And then, you know, I think we've had this discussion that the density factors are in a way a form of direct allocation.  It is just not at an asset level.  It is at a sort of a global level that -- and so that is a form of shifting costs around, but it's not direct allocation.

So the only one I can think of is the sentinel light class.

MR. SHEPHERD:  Sorry, is the density factor direct allocation or not?  You just said both.

MR. ANDRE:  It is similar to or akin to a direct allocation, but not quite, because the density factors apply at a global level.  They aren't tied to knowing and understanding the specific assets being required to serve. They're instead based on that study that was done in 2013.

MR. SHEPHERD:  So that's just like all the rest of your cost allocation, which is based on -- not on direct allocation, but on averages and relationships between costs between different customers, et cetera.

You have a bunch of information like that and you apply that information to set relative allocators to different rate classes, right?  And that's what the density factor is.

MR. ANDRE:  It is a form of allocator.  I am thinking back to your direct allocation.  For settlements there are some settlement costs that we know are associated with billing interval metered customers and DGen customers, and so those costs are specifically identified and directly allocated to those classes as well.  So that is another example of direct allocation.

MR. SHEPHERD:  None of your general service classes except in this proposal have any direct allocation.  Right?

MR. ANDRE:  There are some general service demand customers that are interval meter that are some other costs directly allocated, OM&A costs.

MR. SHEPHERD:  Such as?  I don't mean which customers, I mean in what circumstances?  Because I couldn't find any.

MR. ANDRE:  Not in 2030, but in our existing model.  If you go to our existing model you will see some direct allocation of settlement costs.

MR. SHEPHERD:  And of course you have some large users, what you call sub-transmission users.  They do have some direct allocation of costs, right?

MR. ANDRE:  Other than the settlement costs that I am referring to, no.  We specifically -- we make a point of identifying the amount of assets or the assets being used by our sub-transmission customers, so the assets above 
13, 13.8 kV, I think, or 13.2 kV, so we specifically identify those assets and we break it out in the model, but I wouldn't call those directly allocated.  They're also done via an allocation process.

MR. SHEPHERD:  Okay.  So you have referred to direct allocation then as being sort of pretty standard, but it doesn't sound like you use it much.  Why not?

MR. ANDRE:  Hydro One manages its utility on sort of one utility basis and we don't keep track -- we don't keep track of costs specifically associated with different service classes.  That would be impossible to do.

So there aren't costs we can directly allocate.  To the extent we can, as we can for the sentinel light class, we do.  But otherwise, all of the costs are tracked globally.

We have a unique situation where with the acquireds, where they have been kept separate up -- they will be kept separate up to the time of acquisition.  So we have the ability to directly identify the costs being used to serve them, or the assets being used to serve them.

MR. SHEPHERD:  But you are proposing to track their capital costs for the next forty years.  That seems like a waste and is something you would not do for anybody else, right?

MR. ANDRE:  Our proposal is to track it until the next rebasing.  I think we are hoping to show the Board at that time, so in fifteen years, if any of the Board members are still around.

[Laughter]

MR. SHEPHERD: Ah, they will all be here.

MR. ANDRE:  We're hoping to show the Board members the extent to which the adjustment factors are changing.

In one period, five years later and then five years later.  To the extent they're not changing, I am hoping to drive some efficiencies by suggesting you know what, we demonstrated the adjustment factors are remaining relatively stable.

So, you know, we might make a proposal fifteen years from now, Mr. Shepherd, that would suggest we no longer -- it's no longer efficient or necessary to continue tracking.

For the interim, yes, we made that commitment in order to recalibrate the adjustment factors and just see what kind of an impact it has.

MR. SHEPHERD:  And this is only for acquireds, not for anybody else.



MR. ANDRE:  Well, it's only for the acquireds where we have the direct allocation of costs, you know, that we know the actual costs being used to serve them.  We don't know those costs for any of the other classes.

MR. SHEPHERD:  You could identify the costs to serve Trenton, or Smiths Falls, or Kingston, couldn't you?

MR. ANDRE:  No.  I mean, we can count the number of poles and we can count the kilometres of line, but the asset cost, the costs of putting in those poles and wires and transformers, we don't have that broken out by Trenton or by any other subset of our service area.

MR. SHEPHERD:  You have asset management information.  You actually go out and look at your assets, and you have asset management detailed asset management information that shows age, vintage, and condition, right?

MR. FALTAOUS:  Yes, that's correct.

MR. SHEPHERD:  And so if you have that, you can make a pretty good estimate of what the costs are to serve Kingston customers, can't you?

MR. ANDRE:  Yes.  I think you hit on the key word,  "estimate".  So it would be an estimate, it would be -- I don't know how much of an improvement that would be over a cost allocation-type process.

What we're talking about with these two acquired utilities is not allocation.  We know the specific amount of assets being required to serve them, and we're using that as the basis for allocating all other costs.

So there is no guesswork, or no estimation required to identify those specific assets, whereas for all of our other service territory, it would require some sort of estimation.

And I'm not even sure it could be done.  I know our financial systems don't break this out.

MR. SHEPHERD:  The reason for this is because, with PDI for example, when you acquire the assets from PDI, they have been keeping track of the costs of them.  So you have that information.

You don't do that for your own assets, right?

MR. ANDRE:  We do that for our assets for a utility as a whole, which is exactly what PDI and OPDC have been doing.  They have been doing that for their utility as a whole.  Their utility as a whole comes over, so we know that number.

We do the same thing.  We do know the number for our utility as a whole.  We just don't know it -- you know, I'm sure if you go to OPDC in Peterborough and ask them the costs to serve specific neighbourhoods within their service territory, they wouldn't be able to tell you that either.

MR. SHEPHERD:  But I am going at this a bit more than I would like, because it sounds like you're saying -- and tell me if this is right, it sounds like you're saying the only reason we are charging the people in Trenton, people in Kingston and the people in Ancaster more is because we have better information on Peterborough and Orillia.

Otherwise, we would be charging them less, too.  Isn't that right?

MR. ANDRE:  So our existing harmony rate base is made up of a number of classes.

We allocate costs of those classes.  You know, we have residential, general service.  We have -- right now after the adjustment we made in 2006, we have a number of rate classes consistent with all the other LDCs in the province.

We don't have -- I don't know of any LDC that breaks out their service territory and says there's a specific pocket within our service territory that we're going to develop a unique rate for, if they have always been part of the utility as a whole.

The distinction here is that these utilities have not been part of Hydro One as a whole.  We are bringing them in.  So there is certain information we know as a result of bringing them in that we can use to better allocate costs as the Board has told us they would like us to do, when they gave their decisions on Norfolk, Haldimand and Woodstock MAADs.  And we are trying to align with what the Board asked us to do.

MR. SHEPHERD:  So I wonder if you could go to page 52 of our materials.  You gave the 40-year example which is useful, and I have seen it before.

But we talk about what happens if you add distribution stations anywhere on your system. And if I understand this correctly, what happens is you spend $2 million -- or I guess it is Hydro One, $3 million on a distribution station, and it goes into the pool of distribution stations that is then allocated to all of your customers in the various classes, right?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  And so it's a cost that may serve a local area, but it is socialized throughout the province.

MR. ANDRE:  Just like all costs for an LDC typically are.

MR. SHEPHERD:  And what you would do then is apply the adjustment factors to those costs going forward for the acquireds, right?

So instead of getting -- the AUGd class, instead of getting a hundred percent of their fair share of that distribution station in Bancroft, they will get 19 percent   of their share.  That is on Page 53 of our materials.

MR. ANDRE:  When you say their fair share, they are going to get allocated -- because we need to have some way to allocate the costs that we're incurring across all rate classes, they're going to get allocated a share of that cost consistent with the principles that underlie the Board's cost allocation model, which by definition are a fair means of allocating costs across rate classes.

So yes, once we establish the adjustment factors, then those adjustment factors we know that in the year of rebasing, giving residential customers 60 percent of the assets of Hydro One's total assets, is a fair reflection of the assets specifically required to serve them.

And then going forward, once we have built those adjustment factors in, you know, then as Hydro One's costs go up, those adjustment factors would continue to apply to Hydro One's total numbers.

MR. SHEPHERD:  Except for that new station in Ancaster, which doesn't serve Peterborough and it doesn't serve Trenton and it doesn't serve Smiths Falls, the people in Smiths Falls and Trenton would pay five times as much as the people in Peterborough because of the adjustment factor, right?

I am using one particular rate class, 19 percent.  But you can use a 50 percent rate class.  It is the same concept, right?  They would pay less, even though it is not serving any of them.

MR. ANDRE:  Right.  But so the same also happens -- so any assets built within Peterborough or Orillia would also get added to that overall rate base and they would only pay 19 percent of that as well.

So it works both way.

MR. SHEPHERD:  Nineteen percent of their share.  So you have a cost allocation model which already shares amongst all of the customers in the province in appropriate percentages.

And you're saying, but by the way, the people in Peterborough for whom it was built would only pay 19 percent of their share.  Whereas the people in Trenton, who will never see this station, will pay a hundred percent of their share.

MR. ANDRE:  When that station is -- when stations are built in Trenton or Owen Sound or Smith Falls, et cetera, those people in Peterborough will also pay 19 percent of those stations' costs that they're not using at all.

MR. SHEPHERD:  And the people in Trenton will pay a hundred percent of their share of those costs, right?

If a station is built in Trenton, then Trenton will get their full allocation of their share of that cost and Peterborough will get 19 percent of that same allocation, right?

MR. ANDRE:  No, that's not correct.  We don't have a Trenton class.

Hydro One customers, as a group, will pay a share of that cost.  The acquired customers will pay, you know, 20 percent in the case of GSD, but 70 percent in the case of the other classes.  And they pay that share.  But all Hydro One customers -- all other Hydro One customers, not just the customers in Trenton, as you're saying, Mr. Shepherd, would share in the cost of that station in Trenton.

MR. SHEPHERD:  And the customer in Trenton will pay more for that Trenton station than the customer in Peterborough.  But the converse is not true.  A station in Peterborough, the Peterborough customer will pay less than the one in Trenton.  Isn't that right?  Isn't that how that works?

MR. ANDRE:  No.  I mean, all I can tell you is that the allocation factors at the time of rebasing ensure that the amount of costs that are being allocated to the acquired classes as a percentage of Hydro One's total costs fairly reflect and result in the appropriate amount of assets being allocated to the acquired classes.

As Hydro One's costs go up, as the asset costs in the acquired utilities go up, we will continue to check -- I mean, we have the -- we've made a commitment to track the adjustment -- or to track the capital assets so that we can continue, over time, to fairly reflect and recalibrate those adjustment factors to ensure that they continue to appropriately allocate what share of Hydro One's total assets should appropriately flow to the acquired customers.

That was the point of recalibrating and continuing to track the capital costs so that we can recalibrate those adjustment factors.

MR. SHEPHERD:  It sounds like --


MS. RICHARDSON:  In addition -- sorry, just saying, in addition, all of our legacy customers will benefit from having some of our shared cost -- our fixed costs spread out over a larger customer base.  So they won't (sic) get an offsetting benefit on top of what Mr. Andre's been talking about, which, it seems to be missed in this whole conversation, there is significant savings.

And our rate proposal is that all rate classes in all of our rate classes, legacy, Peterborough, and Orillia, are going to have lower rates if this application is approved.  If it's not approved they will all have higher rates.  That is our evidence.

MR. SHEPHERD:  So both of you have changed the subject from the question I asked directly, which is, as long as the allocation factors are in place, when you socialize a cost, that socialized cost will be socialized less to PDI and OPDC than other similar customers in legacy areas.

MR. ANDRE:  No, that's not correct.  With our --


MR. SHEPHERD:  Well, tell me the math.

MR. ANDRE:  With our commitment to continue to track the capital adjustments or capital additions to Peterborough and Orillia and our commitment to recalibrate those adjustment factors, they will continue to pay their fair share or their costs associated with their assets.

MR. SHEPHERD:  Show us in the evidence where you demonstrate how that works, because everything I have heard so far is the opposite.

You admit -- you admit that -- in the technical conference that when you socialize costs it is not fair.  So show us in the evidence where you have demonstrated that this thing you have just said, that, oh, yes, it's going to be fair, where that actually happens.  I have not found it.

MR. ANDRE:  Direct allocation is not a socializing of costs, it is the exact opposite.  It is identifying the specific assets associated with serving OPDC and PDI, so it is the antithesis of socializing.  It is saying, no, we specifically know the assets required to serve you.  We're going to identify those assets and then use the Board's cost allocation principles that say, given an amount of assets, how much OM&A should you be paying associated with those assets, how much shared costs should you be paying associated with those assets, how much net income and interest costs should you be paying associated with those assets, and it is doing that, as it does for all other classes within the model.

MR. SHEPHERD:  So then you are not going to socialize any costs to the PDI and OPDC customers.

MR. ANDRE:  We're socializing all of the shared costs and all of the upstream distribution costs, so all of the costs that are not directly allocated will be socialized, just like it is for all classes within the model.

MR. SHEPHERD:  So when we asked you about the distribution station in Ancaster, which is not a shared cost, right, that cost you're not going to socialize, because it is not serving Peterborough or OPDC.  Is that right?  Are you going to socialize that or not?

MR. ANDRE:  This transcript reference, what is this from?

MR. SHEPHERD:  This is from the technical conference, page 1.

MR. ANDRE:  Which technical -- the technical conference from -- for this one?

MR. SHEPHERD:  Yes, in this proceeding.

MR. ANDRE:  Can you point me to where I said that?

MR. SHEPHERD:  Sure.  If you spend a million dollars on a station in Ancaster, then they will all pay except for these three utilities -- no, no, this is in 0049, I apologize -- the customers of these three utilities will pay about half or so, and you say:

"Yes, that is the outcome of the adjustment factor approach."

Have you changed that?

MR. ANDRE:  Absolutely.  That was one of the differences that we made from 0049 to this application, is the commitment to continue tracking capital additions and to recalibrate the adjustment factors.

MR. SHEPHERD:  So you are no longer going to socialize costs that are directly allocated, are in those categories, the 1815 to 1860, none of those costs are going to be socialized to PDI and OPDC anymore?

MR. ANDRE:  That's our commitment in this application, yes.

MR. SHEPHERD:  Is that in the evidence somewhere?

MR. ANDRE:  Absolutely.  That was the key change that we made.

MR. SHEPHERD:  Can you show us?  Because I can't find it.

MR. ANDRE:  So we don't use the word "socialize".  We make the commitment to track the capital additions associated with these acquired utilities, and then if you recalibrate the adjustment factors so that you directly allocate those actual capital assets, knowing what they were at the time of acquisition, and any additions you have made since then, if you're recalibrating the adjustment factors to directly allocate those costs, then there's no socializing.

MR. SHEPHERD:  So then your commitment to track the capital, that commitment is to keep a separate record of rate base for PDI and a separate record of rate base for OPDC?  Is that correct?

MR. ANDRE:  Just the capital additions, yes.  Because that is what is going to drive the gross book value.  And so that commitment -- to your point, in terms of where we talk about that --


MR. SHEPHERD:  Yes.

MR. ANDRE:  -- just bear with me.  So if you go to Exhibit A, tab 5, schedule 1, on page 7.  So on page 6 we talk about the use of adjustment factors to directly allocate costs and more accurately reflect costs.

But then on page 7, second paragraph, starting at line 6 it says:

"Hydro One acknowledges that over time the adjustment factors may change as assets that were installed over a period of many years are replaced at current costs.  However, the adjustment factors will need to reflect the specific attributes, customer density, distribution system configuration, of the acquired utilities.  In order to mitigate concerns with how those adjustment factors will be set in the future, Hydro One proposes to continue tracking the distribution gross fixed assets associated with serving the PDI customers and update the adjustment factors at the time of future cost-of-service applications as necessary."

MR. SHEPHERD:  Okay.  So this doesn't say they won't get a fair -- their share of the costs in those categories spent elsewhere, but that is what this is intended to imply, that for accounts 1815 to 1860 the only capital costs that will be added to PDI and OPDC will be direct allocation.

MR. ANDRE:  That's correct.

MR. SHEPHERD:  Awesome.  That is news to me.

I wonder if you could go to page 60 of our materials.

MR. ANDRE:  Sorry, which page?

MR. SHEPHERD:  Sixty.  Six zero.  This was sent to you the other day.  I hope you have had a chance to look at it.  What it does is it compares the allocated costs in the UR class to the AUR class and UGE to AUGE and UGd to EUGD.  Those are the fairest comparisons that you have within your cost allocation model.  Right?  Those pairs?

MR. ANDRE:  I'm not sure what you mean by "the fairest  comparison".  They're a comparison of the costs associated with those classes.

MR. SHEPHERD:  AUR is most like UR as a class?  Fair?

MR. ANDRE:  Yes.

MR. SHEPHERD:  Okay.  And similarly, AUGE and AUGd, similar to the non-A classes?

MR. ANDRE:  Similar.  And as I said, I think, a number of times today already, those urban legacy, the UR, the UGE, and the UGd, which are the legacy Hydro One classes, are more closely aligned with the costs to serve them, but they're not perfect.

MR. SHEPHERD:  All right.  So here's why we did this comparison.  And you see this comes directly from your CAM, right?

MR. ANDRE:  Yes.

MR. SHEPHERD:  And what it shows is that your CAM, because of your adjustment factors, I guess, allocates significantly more costs to UR than to AUR, and so on.

What I want to -- and the same is true in PDI, by the way.  What I want to ask you is, to what extent is this reflecting the flaws in your density factor, which you talked about at some length today, and the problems that you now know about in your density factor, and to what extent is it reflecting an under-allocation of costs to the acquired classes?

MR. ANDRE:  So it isn't reflecting any under allocation of costs to the acquired classes.  It is reflecting the costs associated with the fixed assets specifically required to serve those classes and then, using the Board's cost allocation model and principles embedded therein, to allocate all costs including direct costs, shared costs, asset related costs across all classes both legacy and the acquired using the same principles.

And, you know, your characterization that the UR, UGd, that the legacy classes were being over-allocated -- I can't recall the exact words you used.

No, they're being allocated the costs consistent with the principles that are embedded within the Board's cost allocation model.

We are not shifting any costs over to UR.  We are simply identifying the correct costs associated with serving the acquired classes, and therefore all of the other costs that would have been borne by those legacy customers anyway.

To Ms. Richardson's point, they would have been covering those costs.  They would have had to pay those asset related costs.

By bringing in the acquired, what you're actually able to do is shift some of the shared costs over to those acquired classes.

So there is no over or under allocation here. There's just the allocation of costs to the acquired classes, consistent with the direct amount of assets required to serve them, and then the allocation of all other elements or all other costs within the model across all classes using the Board's cost allocation principles.

MR. SHEPHERD:  Well, no.  It is using Hydro One's cost allocation principles, right, because it is your model, not the Board's model.

MR. ANDRE:  Our model, as I said during my direct, is based on the Board's model.  The only changes were made were the sub transmission system, the density factors.

MR. SHEPHERD:  Adjustment factors?

MR. ANDRE:  The -- yes, and direct allocation, right.  For the acquireds, direct allocation adjustment factors, yes.

MR. SHEPHERD:  So is it your evidence then that it actually costs you -- what's this? -- about 65 percent more to serve a school, let's say, in Trenton than in Peterborough?

MR. ANDRE:  So you are looking at the UGd line?

MR. SHEPHERD:  Yes.

MR. ANDRE:  What you are seeing there is the impact of what I said with respect to the minimum system and PLCC adjustments, right.

So Hydro One shifts more costs to our urban general class, consistent with the fact that our minimum system study tells us that they're incurring those costs.

Whereas for the acquired classes, we wanted to stay as close as possible to what in this case -- is this Orillia?  The acquired utility is charging them.  So the minimum system and PLCC adjustment that Orillia uses, we wanted to be consistent with that, and they don't allocate as much costs to the GSD class as we do in Hydro One's cost allocation model.  So that is why you see a bigger disparity there.

But you can see that for the residential and the general service energy, yes, the allocated costs to serve that specific area, given the amount of assets that they are using, does result in a lower cost per customer.

MR. SHEPHERD:  And you think that is an actual lower cost?  Because I thought I understood you to say earlier that your density factors are a rough way of allocating cost differentials, and maybe they allocate too many costs to urban classes.

Isn't that what you said?

MR. ANDRE:  So we have an urban class that captures the wide range of urban territories that we serve.

So it is an average urban class cost that -- and the density factors have a certain amount of averaging built into them.  So, yes, those costs are probably higher than it actually costs to serve the urban class.  But it is the best available information we have now, in terms of how to allocate costs across our legacy classes.

MR. SHEPHERD:  Two things about that.  First of all, you said this is broad urban class.

This is like ten persons of your customers, right, or something like that?  Maybe fifteen?

MR. ANDRE:  Yeah, ten -- between ten and fifteen percent, and broad in the sense that, as I said, we have urban areas, some of which are just at the margin of being urban which is 3,000 customers and sixty customers per kilometre.

Then we have areas around Kingston that are over ten, 12,000 customers.

So that is what I meant by broad, is that urban class covers a range of urban sizes.

MR. SHEPHERD:  If you look at the map of your service territory, the urban areas are just a bunch of little dots, right.  The vast majority is not in your urban classes, right?

MR. ANDRE:  Yes, that's correct.  That's why the average cost for Hydro One, the true average cost ignoring high, medium, and low density, is much more rural than any other utility.

MR. SHEPHERD:  So I am going to come back to the PLCC in a second.  But let me just ask you about the UGd and AUGd again, because a school board is going to ask me, right, why am I paying $22,158 a year and these guys down the road -- basically the same, it's the same school in a similar area with similar growth, blah, blah, blah -- they're only paying 13,682.

Is the answer that you want to give the ones in Peterborough a break?  Or is the answer -- or are you deliberately under allocating costs to them?  It sounds like you are, right?

MR. ANDRE:  No.  Mr. Shepherd what I hope you would tell your constituents -- first off, the constituents in Peterborough and Orillia, I hope you would tell them under Hydro One's proposal, they would I r be paying lower rates than they would pay if not acquired.

With your constituents in other jurisdictions, you have to tell them the truth, that is they pay an average cost for urban utilities that Hydro One has made best attempts to try to get as close as possible by using density factors to shift some of the costs over to the medium density and over to the high density classes.

So, you know, but you are paying an average urban cost across all of Hydro One's urban areas.  That is what I hope you would tell your constituents.

MR. SHEPHERD:  And those customers, they're not better off with Hydro One, are they?  They're worse off with Hydro One.

That school at Ancaster, for example, pays, what?  Fifty percent more than up the street in Hamilton?

MR. ANDRE:  I think you are getting into an area that is the appropriate realm of our distribution application.  If you have those kinds of questions for distribution application, I am happy to answer them because shifting costs between our existing rate classes from urban to the R1 or R2 medium density or low density classes has implications for those other customers.

MR. SHEPHERD:  Well, that's sort of where I am going with this and the reason why.  I am not raising it just because I have a bee in my bonnet.

I am raising it because aside from the PLCC adjustment -- and I will come to that in a second -- it sounds like what you are saying is that if there's a disparity between urban customers within this area and this area, the solution is not in this proceeding.  The solution is in a rate proceeding to find a way to make their costs -- to deal with them in a fairer manner.

MR. ANDRE:  Yes.  If you're talking about costs, you know, Ancaster -- costs within communities that are within the existing Hydro One service territory, yes.  The appropriate forum to talk about, you know, the impacts of the current rate class structure that Hydro One has is a distribution application.

Here we're talking about, let's make sure that the costs that these new acquired customers are going to pay fairly reflects Hydro One's costs to serve.

Let's enshrine the savings in OM&A costs that will occur as a result of this transaction.  Let's get those benefits to both legacy and acquired customers.

MR. SHEPHERD:  So we're missing each other on the concept of fairness, and you are looking at -- and tell me whether this is right.  You're looking at PDI for example, and you're saying if we directly allocated costs to them so that we're really recovering from them the costs to serve them, that's fair.  Right?

MR. ANDRE:  Yes.  Given that we're in the process of integrating them and bringing them in, what is it you are going to do to bring them into your rate structure in the most fair way possible?

And yes, what we are proposing we believe to be a fair way to allocate cost to these customers.

MR. SHEPHERD:  And the concept of fair that I am trying to present to you -- which you appear to be rejecting, and tell me whether this is right -- is that if a customer in PDI pays two-thirds of what a customer in Ancaster pays and they're identical customers, that's not fair.  And you're saying that is fair.  Is that right?

MR. ANDRE:  Right now we have LDCs all over the province.  I mean, Alectra acquired a number of utilities.  Their Barrie rate zone pays different rates than their, you know, their Mississauga or Brampton rate zones.

So are you saying that they're paying unfair rates?  I would say that what's fair is that the costs allocated to Hydro One's existing rate classes are per the Board's cost allocation model and cost allocation principles, that, yes, has some element of socializing among your existing rate classes.

MR. SHEPHERD:  So Alectra didn't propose a different cost allocation method for different rate zones.  And their rates will eventually converge.  Won't they?

And are you saying your rates will eventually converge as well?

MR. ANDRE:  I am limited in what I know about the Alectra consolidation.  I know that at some point -- if they had different rate zones now, at some point they're going to come to the issue of, how do we deal with common costs, with shared costs, and they're going to have to come up with a method to allocate their shared costs among their different rate zones.

Our proposal for allocating shared costs among Hydro One's legacy and acquired classes is to use the principles that are embedded within the cost allocation model.  I don't know what principles Alectra will use when it comes time for them to integrate those rate zones, but we believe that our approach that relies on the Board's cost allocation model is fair.

MR. SHEPHERD:  So I will end on this today.  And I have a few other issues to deal with tomorrow, but I am just having too much fun to continue.

Can you go to page 65 of our material, Mr. Andre.  And you were talking about the PLCC values.  And is it possible, without using a blackboard or a whiteboard to explain in two sentences or less what a PLCC value is and how it relates to cost allocation?

MR. ANDRE:  I will do my best.  There's --


MR. SHEPHERD:  Two sentences.

MR. ANDRE:  Two sentences.  So it is a recognition that your minimum system is able to carry a certain amount much load.  So the smallest wire, the smallest transformer.  And what the PLCC adjustment does is it looks at the number of customers that a rate class has and says, to what extent can the minimum system cover the load of that class?  And only the costs in excess of -- so only, sorry, the load in excess of the minimum -- of the load that can be carried by the minimum system gets allocated based on demand.  The rest of the costs get allocated based on number of customers.

So to the extent that a class's load can be covered by the minimum system, you use number of customers to allocate assets across the classes.  And the load over and above what can be carried by the minimum system, those assets are allocated across the classes based on peak kilowatts.

MR. SHEPHERD:  And you calculate that separately for conductors and transformers, right?

MR. ANDRE:  That's correct.

MR. SHEPHERD:  And the Board default values are 400 watts for each of those, right?

MR. ANDRE:  Yes, that's correct.

MR. SHEPHERD:  But you did a calculation -- now, is this a calculation by rate class?  Or is this a calculation for your system as a whole?

MR. ANDRE:  It is for the system as a whole, and then it applies to all rate classes.

MR. SHEPHERD:  And that says that the values are actually 1,154 watts and 2,939 watts, correct?

MR. ANDRE:  Correct.

MR. SHEPHERD:  Is there some sense in which -- your numbers are more accurate than the Board's numbers, right?

MR. ANDRE:  They're more accurate for Hydro One's system specifically.  That is why the Board required any utility who wants to move away from the 400 watts to do a study and specifically demonstrate what those equivalent values would be for their specific system.

MR. SHEPHERD:  Why would your values be so different than Peterborough, for example?

MR. ANDRE:  So the values first off reflect Hydro One's entire system, so, you know, which is largely a rural system, whereas Peterborough is an urban system.

So certainly that would be one of the major differences, is the nature of our system overall, because, as I just said, that value is calculated for the system overall.

MR. SHEPHERD:  Are the PLC adjustments, are they done differently for urban classes and non-urban classes?

MR. ANDRE:  No.  We use the same per the Board's methodology.  The PLCC applies to all classes.

MR. SHEPHERD:  So when you're -- when you are saying we are not going to allocate based on this study, right, this minimum system study, for Peterborough and OPDC, are you saying we think our number is better but we want to be consistent with the PDC and the OPDC practices?  Or are you saying their minimum system, their PLCC values, are more likely to be close to the Board's numbers than to your numbers, or neither?

MR. ANDRE:  So the 400 -- you know, I don't know if there are any other utilities that have gone through the effort of doing a minimum system study to identify the specific PLCC adjustment that should apply to them.

So all of the other utilities as far as I know use the 400.  Certainly that's the number that OPDC and PDI use.

And in trying to integrate them, we're trying to minimize the differences that they see as a result of being integrated into Hydro One's system.

So first off, I think 400 is probably a better reflection of the split for their specific service territory, and it also has the added benefit that it minimizes -- introducing Hydro One's significantly different PLCC numbers would be another driver of differences in the allocation of costs that are not appropriate for these acquired utilities.

MR. SHEPHERD:  Could this be one of the reasons why your density factors allocate still too much costs to the urban classes, because these PLCC values drive that direction?

MR. ANDRE:  Possibly.  Possibly.  Although the 
study -- the study looked at the number -- the number of assets in those different sample areas.  So I would have to look more closely at the results of the study.  But perhaps that could be a contributing factor.

MR. SHEPHERD:  Can you go to page 66 of our materials.  So this is the actual difference for the -- and I am looking at -- the main difference is in the general service classes, not the residential classes, right?

MR. ANDRE:  Yes.  Yes.  I mean, there are differences, you know, to the extent that costs are -- I mean, you see large differences in the general service demand classes, because a lot of costs get shifted away, and then they get moved to other classes that are much larger, have much more revenue, so you don't see as much of that impact.

Shifting, you know, $10 away from an urban general service demand class has a bigger impact than $10 has on the class that it goes into, just because there is much more dollars associated with it.  So you certainly see the impact.

But you can see, bottom line, you know, both methodologies allocate 1 billion 458.5 million.  It is just that, you know, with the default values you get less costs.  So as an example, for UGd, with Hydro One's PLCC values you're allocating 31 million to the urban general service class.  And with the default PLCC values you're allocating 20.7.  So that is, you know, 9 -- no, more.  11, almost $12 million less.

When you spread that $12 million among all of the other classes like the R2, for example, that has 530 million associated with it, you don't see as much of a difference.

MR. SHEPHERD:  Well, so what I get is that the total costs allocated to the four general service classes is 288 million, with -- at the OEB's value, and another 88 million is added if you use your values, 31 percent.

MR. ANDRE:  Yes.

MR. SHEPHERD:  So -- and you think that that isn't appropriate for PDI and OPDC?

MR. ANDRE:  So for PDI and OPDC we -- something that we haven't talked about.  I have talked about how you directly allocate the assets, right?  That is in total for PDI as an example.  We know the total amount of assets required to serve them.

In terms of how much of those assets are associated with the residential versus the general service versus the general -- energy versus demand classes, we use the split per their last cost allocation model.  So we split it across the three classes consistent with their last cost allocation model, which implicitly means consistent with their PLCC adjustment.

MR. SHEPHERD:  All right.  If you used -- if you applied the same rules to the acquired classes as you did to your own legacy classes, you would be increasing the general service classes for the AUGSE and GSD by about 30 percent, roughly.


MR. ANDRE:  Roughly, yeah.  And you would be lowering the costs for the residential class by that amount as well.


MR. SHEPHERD:  And you wouldn't be able to stay within the goalposts if you did that, would you?


MR. ANDRE:  The goalposts are measured for all of the classes as a group, for the utility as a whole.


MR. SHEPHERD:  So because the residential would be better off, you could still stay within the goalposts?


MR. ANDRE:  Correct.  The goalposts are measured on the total allocation.  So all customers on average within the acquired utility are benefitting.


The differences between rate classes, that would be a function of, you know, the allocation across the classes, yes.


MR. SHEPHERD:  Awesome.  Madam Chair, that is probably a good time to break.


CHAIR SPOEL:  Fine.  Thank you.  We will resume tomorrow morning at 9:30.


MR. SHEPHERD:  Thank you.  Am I starting off, or is somebody else?


CHAIR SPOEL:  I think that is the plan.  I think you should, yes, I think that is the plan.


MR. SHEPHERD:  I have about an hour.


CHAIR SPOEL:  You have about an hour, yes.  Does that work for you?


MR. SHEPHERD:  Yes.


CHAIR SPOEL:  Thank you.

--- Whereupon hearing adjourned at 4:30 p.m.
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